Question Paper Preview

Notations:
l.OptiOﬂS shomwl in greer color and with L 1001 Are Correct.

2 Options shown in red color and with % icon are incorrect.

Subject Name: LAE ASSISTAINT
Duration: 180
Total Marks: 200.0

Question Number : 1 Question Id : 12629 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Chemistry has played a major role 1n shaping many significant aspects of life as we know today.
Some of them are mentioned below. except

Options:
1 % DBegmning of life on earth started with formation of basic biomolecules

- % Cleaning action of detergents micellar action of surfactants
= % Photon induced combinations with environmental pollutants leading to depletion of Ozone laver

Deflection of positive rays i electrical discharge experiment carried out by Goldstemn i modified
4 +" cathode ray tube

Question Number : 1 Question Id : 12629 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 2 Question Id : 12630 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Arbitrarily decided and universally accepted standards of measurement and comparison of
physical quantities are called:
Options:



1 % 5.1 Units
o # fundamental units
= #® derived units

4 % evolved units

Question Number : 2 Question Id : 12630 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 3 Question Id : 12631 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
100 nm would be equivalent to

Options:
1. % ]um

o> of 10° pm
= % 107 fin
4 ® 107 m

Question Number : 3 Question Id : 12631 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

100 nm foeTeh TAJeT 87

Options:
1 % 1 um

o o 107 pm
3 % 10° fm

4 % 107 m

Question Number : 4 Question Id : 12632 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Definite mass of iron on oxidation gives a specific quantity of rust only. This 1s an example of

Options:
1 % law of multiple proportions

> % Avogadro's law
= % kinetic theory of solids

4 % law of conservation of mass

Question Number : 4 Question Id : 12632 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 5 Question Id : 12633 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

During industrial production of ammeonia, 1 molar volume mtrogen at 1 atmospheric pressure and 3
molar volume hydrogen at 3 atmospheric pressure are a released at a time mto 50 litre volume reaction
chamber mamtained at atmospheric pressure in presence of Fe catalyst. Which of the following
statements will hold true?

Options:

1. #® Stoichiometrically lesser amount of hydrogen has been released in the chamber.

2 % By law of multiple proportions the ratio of weight of hydrogen in N2H2 and NH3 will be 4 : 3
respectively.

2. ¥ In accordance with Gay-Lussac’s law, the ratio of the volume of nitrogen, hydrogen and
ammomnia will be 1 : 3 : 2.

4 % Hydrogen is the imiting reactant and nitrogen with ammonia will remain in the reaction chamber.

Question Number : 5 Question Id : 12633 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 6 Question Id : 12634 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Which of the following statements are not assumptions that Dalton proposed for his
atomic theory?



Options:

1. %

Tiny. indestructible and indivisible units called atoms are the building blocks of all matter.
o ®

Separation, combination, rearrangement of integer mumber of atoms takes place m chemical reaction.
Thus atoms are neither created nor destroved.

= W
(Gaseous reactants giving gaseous products at same temperature and pressure hence
will bear a simple whole number ratio with each other.

4 %

A pure compound will contain same elements in a definite whole number ratio no matter what 1ts
source.

Question Number : 6 Question Id : 12634 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 7 Question Id : 12635 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Atomic mass of neon 1s 20.1707 u and its 1sotopes Neon 20 and Neon 21 have atomic
masses 19.9924 u and 20.9940 u with natural abundance of 90.92% and 0.26%5,

respectively. What will be the atomic mass of Neon 22, if its abundance is 8.82%7?

Options:
1.4 219914 u

> % 220018u
5 % 209982y
4 % 2102420

Question Number : 7 Question Id : 12635 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Options:

1.¢ 21.9914 u
o % 220018 u
z ® 20.9982 u
4 ® 21.0242 u

Question Number : 8 Question Id : 12636 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
‘1 gram molecule’ 1s best understood as

Options:
1 % ratio of net weights of the constituent atoms of the molecule i grams.

- % One gram weight of C-12

= % ratio of mass of one molecule with mass of 1 atom of C-12

4 " Mass of Avogadro number of molecules under 5TP conditions

Question Number : 8 Question Id : 12636 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 9 Question Id : 12637 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The options below are the steps mvolved mn determination of empirical and
molecular formula of a compound which of these 1s/are maccurate?

Options:
1. ¢

Percentages of all elements present in compound are determined experimentally
and sum up to 100 %

o R

Number of moles of each constituent element 1s determined as gram percent. The
percentage of element being divided by its atomic mass.

T R

Fractional ratios are converted to whole number by neglecting minor fractions or
multiplying with convenient integer.

E
Molecular mass 15 determined experumentally to determine its ratio with empirical formula mass.



Question Number : 9 Question Id : 12637 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 10 Question Id : 12638 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The stoichiometric coefficients on balancing the reaction below will be
respectively.

P+ HNO, ~ NO, + H,0 + H,PO,

Options:
1 % 14421

> % 2.6.6.1.2
5 « 1.5.5.1,
4 % 3.11.11,

Question Number : 10 Question Id : 12638 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

i@ sifafnar & Tafed o W s IonE FAT: §iE-
P+ HNOg ——— > NOs +H»O + H3POy

Options:

1 % 1,4, 4,21

> % 2,6,6,1,2

= oL 50 1 ]

4 %3 11,11, 1, 3

Question Number : 11 Question Id : 12639 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



The number of moles of methane that would undergo complete combustion in
order to produce 33 gm of carbon dioxide would be

Options:

1 & 15 g
o W 17 g
T W Sg

Question Number : 11 Question Id : 12639 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 12 Question Id : 12640 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

; 11 % 0.122
What is the result of T""

Options:
1. % 01

= o 0.13
z % 0134
4 % 01542

Question Number : 12 Question Id : 12640 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
1 #% 01

o « 0.13
7. % 0.134
4 % 0.1342

Question Number : 13 Question Id : 12641 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Bovle's law for a given mass of a gas may also be stated as

Options:
1. ¥ P/V = Const

2 % V. T=Const
3. ¥ P/Density = Const



4 % P x density = Const

Question Number : 13 Question Id : 12641 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:

1. % P/V = di-&de

> # VY . T = P&

3. ¢ P/9ed = ®il-&cc
4, % P x ged = MI-LeC

Question Number : 14 Question Id : 12642 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Relationship between Celsius temperature and K temperature can be arrived by the
application of

Options:
1 # Ideal Gas Law

=« Charles Law
= % Gay-Lussac's Law

4 % Avogadro's Law

Question Number : 14 Question Id : 12642 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 15 Question Id : 12643 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

For HCI preparation, H, (density 0.09 g/l) and Cl, gases are allowed to diffuse into the reaction vessel.

If H, diffuses 5.93 times faster than Cl, gas, the density of chlorine will be:

Options:
1 ¥ 3. 16g/L

> % 632gL
5 % 1.78gL
4 % 4451

Question Number : 15 Question Id : 12643 Question Type: MCQ



Correct : 1.0 Wrong: 0.25

HCI == % felq, H, (57eer 0.00 g/1) Tar Cl, it @t Sk Fietnr # waria
(Fewrgen) Tebvam <freT 31 i H, Clo, 39 &t gorim & 5.03 AT a1 & Wrefeil §, a7 Feala
0T T eer ____ B

Options:
. & 3.16 g/

o W 6.32 g/
z % 1.78 g/L

4 ® 4.45 g/

Question Number : 16 Question Id : 12644 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In case of helium at 0°C_ graph of PV Vs P starts at lower pressure in accordance with ideal gas
equation.

Options:
1 # but decreases with increase m P
o W

but decreases with increase mn P up to a minimum volume then increases steadily to a max volume
above ideal PV value

= % and decreases constantly to a constant value

4 + and mcreases continuously with increase in P

Question Number : 16 Question Id : 12644 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 17 Question Id : 12645 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Andrew s 1sothermal of CO5 indicates

1. 48.1°C plot mn hyperbelic in accordance with Bovle's law.
1. deviations from Bovle's law mcreases as temperature 1s reduced.
1. 30.98°C 1s the critical temperature of CO;.

Thus. which of the following statements will be true?

Options:



1. % Statement (1) 15 true only at low pressure.
2 ¥ 30.98 °C 1s the highest temperature at which hquification begins.
3. % The maximum pressure at which condensation first commences is the vertical pressure.

4. % molar volumes at T_ and Tp 15 22.4 L for all gases.

Question Number : 17 Question Id : 12645 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 18 Question Id : 12646 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

[f Rutherford s atomic model were considered true. the spectrum of hvdrogen atom would be
obtaimned as

Options:
1. % Daiscrete lines

o # discontinuons bands
= % continuous band

4 % observed as short pulses

Question Number : 18 Question Id : 12646 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 19 Question Id : 12647 Question Type: MCQ



Correct : 1.0 Wrong: 0.25

Surface of sodium metal 1s wrradiated with light of suitable frequency. The ejected
electrons moving with the speed of light will have a wavelength of

Options:
1 % 00104 A

= o 00243 A
= % 00351 A
4 % 00582 A

Question Number : 19 Question Id : 12647 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:

1. % 0.0104 A

> o 0.0243 A
% % 0.0351 A
4 % 0.0582 A

Question Number : 20 Question Id : 12648 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The graph below 1s

I

4miriy

B

Options:
1 % amplitude of electron wave as a function of r

- % oand g levels according to MOT
= % probability distribution curve of 2p orbital

4 + probability distribution curve for 2s orbatal

Question Number : 20 Question Id : 12648 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 21 Question Id : 12649 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Orbital angular momentum of an H electron has been determined as V2 h It can be ascribed to
Options:

1 # s orbital

> " P orbital

= # d orbital

4. % forbital

Question Number : 21 Question Id : 12649 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 22 Question Id : 12650 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Hund s rule will not be obeyed for

Options:
1« Silver (Z=47)

o % Alummmm (Z=13)

=z % Magnesmum (Z=12)



4 % Vanadium (Z=23)

Question Number : 22 Question Id : 12650 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Options:

1 T (Z = 47)

. » VOITAGTA (Z = 13)
5 % HIEAERHA (Z = 12)
4 % delfSAH (Z = 23)

Question Number : 23 Question Id : 12651 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Match the following

A  Doberemer (1) Law of Octanes

B. Newland (11) Law of triads

C. Lother Mever (111) Physical properties as function of atomic
weights

(1v) Modem Periodic Table
Options:

1.% A Ban  Cav

o % Aq Bav C-n

2« Aun Bi Cai

4 % Amn Ba Cav

Question Number : 23 Question Id : 12651 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
1 ® Al Bl € v
> % A-1 B-iv C-ii
3 o A-1i B CHil
4 % A-dii B C-iv
Question Number : 24 Question Id : 12652 Question Type: MCQ

Correct: 1.0 Wrong: 0.25
Antimony (Z=51) will be positioned in the periodic table as

Options:



1 % dblock period 4. group 12
> o pblock. period 5. group 15
= % dblock period 5. group 3

4 % sblock. period4. group 2

Question Number : 24 Question Id : 12652 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 25 Question Id : 12653 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

For ¢ach of the following pairs, choose the elements with the larger radius.
(1) K; Br (u) F; Br (m1) He; Rn (iv) Mg; Cl (v) O; S (v1) Be; O

Options:

1 % Br.Br.Rn Mg O Be

> % K.Br.En CLS. O
3z ®# Br.F.He.C1L,O.0O
4 o K. Br.Rn Mg 5 Be

Question Number : 25 Question Id : 12653 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

few g g2 g # fy, a8 Fiwar anet 7ear i gy
(i) K; Br (ii) F; Br (iii) He; Rn (iv) Mg; Cl (v) O; S (vi) Be; O

Options:
1 % Br, Br, Rn, Mg, O, Be

> % K, Br, Rn, Cl, S, O
3z % Br, F, He, Cl, O, O
4 « K, Br, Rn, Mg, S, Be

Question Number : 26 Question Id : 12654 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

[dentify the metalloids amongst the elements given:
As B. Ge. S1. Sb. Te. Po. Ac. Be. Cd. Ta. Ru. In. P

Options:
1 « As B 5b.Po

> # As Be Cd.Ru. In
z % B.Ta P.5b



4 % Sb.Po As In

Question Number : 26 Question Id : 12654 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

few o gt & ¥ 3T (Fewiss) 1 TwEE w1
As, B, Ge, 5i, Sb, Te, Po, Ac, Be, Cd, Ta, Ru, In, P

Options:
1 « As, B, Sb, Po

-~ % As, Be, Cd, Ru, In
= % B, Ta, P, Sb
4 ® Sb, Po, As, In

Question Number : 27 Question Id : 12655 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

On the basis of electron gain enthalpy, the correct order of elements from less negative values to more
negative values would be:

Options:
1 « P.O.F.Cl

> % H.P.K.Cs
= % Rb, Te Po. O
4 % 5. 5e Te Po

Question Number : 27 Question Id : 12655 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
L« P, O F cCl

-~ # H, P, K, Cs
= % Rb, Te, Po, O

4 % 5, 5e, Te, Po

Question Number : 28 Question Id : 12656 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

200 ml of ethyvlene gas and 200 ml of hvdrogen chloride gas are mixed and allowed
to react as
CJHJ l:g;l _HC].{E} - CEHL:CI l:g;l

The final volume of the reaction mixture and magnitude of work generated. respectively. will be
Options:

1 % unchanged and zero

o o 022and 40527

2 % 01Land20267

4 % 04L and -40.527

Question Number : 28 Question Id : 12656 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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CoHs (g) + HCI(g) = CoHsCl (g)

wisforar e &1 ¥E39 3Taa 327 T 717 S &7 9ATT FHT
HEL

Options:

| % HORAfdd wd o
= o -0.22 Tur 40.52 J
z % 0.1 L ur 20.26 J
4 % 0.4 L Tm -40.52 J

Question Number : 29 Question Id : 12657 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

A reaction has to be to be chosen to demonstrate to students the equivalence of AH
and AU m a reaction. Which of the following will be the best choice?

Options:
1 ® Ha(g)+% 0,(g) > H00)

> % 2NO;y(g) > Ny04 (g)
3 « Ha(2) + i) > 2HI(g)
4 * 2503 (g) -2 Eacl': (g)+ Dl ()

Question Number : 29 Question Id : 12657 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Ol & e HERRT 7 AH 3R AU & gegar fGant & o v sif@afsar @ =age
forar st 81 AeaefEa 7 € #i9 a7 gdfcaq Aeeg gren?

Options:
1. % Ha (@) + %2 Oa(g) 2 HyO()

> % 2 NOz (g) 2 N2Oy4 (9)
3 « Hz (@) + 13(g) = 2HI (g)
4 % 2503 (g9) 2 2 SOz (g) + O3 (9)

Question Number : 30 Question Id : 12658 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The bomb calorimeter experiment has to be conducted. The procedure given to calibrate
the calorimeter states, 900 g water to be placed in it and a sample of benzoic acid
(CﬁHSCDOH; AH = -3227 kJ/mol) to be burned in the calorimeter. On burning 1.890 ¢

benzoic acid, you observe the temperature of water and calorimeter to rise by
8.32 -C. Using this data, the calorimeter constant for this calorimeter will be:

Options:



1. 223814 J°C
o ® 72920kJ°C
3 # 267139kIK
4 # 201452kIK

Question Number : 30 Question Id : 12658 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

UrifEe T F 95 eidiHeT & uAteT fhar S g1 feidey Fafaar & e
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deatigeh TS Sele 9Y, 3T &8 R ol qur dediHey & agAe # 8.32°C & afg
ES §1 39 3¢ & 3UANT HTeh, 50 HellHe & forw heiee Faue
e

Options:

1. % 2238.14 J/°C
o ® 729.29 kJI°C
3. ® 2671.39 kJK
4 % 201.452 kJIK

Question Number : 31 Question Id : 12659 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Heat of formation of Cy,H,,0q4(8), CO, (g1 and H,O0) are -530, -94.3 and -68.3 kcal/mol, respectively. The

amount of C, ;H,,04 4 which will supply 5400 kcal of energy is:

Options:
1 # 13529 g

o W 42g
5 % 1026¢g
4 o 1368 ¢

Question Number : 31 Question Id : 12659 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

C12H25011(s), CO5 (g) @ HyO(l) &7 TeTdad FSAT (Elc HTh wisterT) &AM -530,
-94.3 Tr -68.3 kcal/mol §1 CyoHy004¢ & a8 A, FAT 5400 fhelihaT F=T 6T
HIfA M-

Options:
1. % 13529 ar

> % 342 A
3 % 1026 am
4 v 1368 7

Question Number : 32 Question Id : 12660 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



During dry practicals. students are provided with the following data:

N> (g) +3H, (g) & 2NH;(g) AH=-918kJ
C(s) +2H, (g) 2 CHy(g) AH=-749k]J
Ny +2C(s) +Hy (g) 2 2HCN (g) AH =+2703 kJ

and were asked to theoretically obtamn AH for the reaction:
CHy (g) + NH; () - HCN (g) + 3 Ha(g)
The answer would be

Options:
1. % 1033K]

> % -1033K]
3 @ 260k]
4 ® -260kT

Question Number : 32 Question Id : 12660 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

sk A (315 Uideder) & eRIe, SEl & oiFafaf@d Ser yent far S &

Np (@) + 3Hy (g) > 2NH3(g) AH = -91.8 kJ
C(s) +2H, (@) > CHy(g) AH = 749 kJ
Ny (g *+2C(s)+Hz(g) > 2HCN (g) A} = $9705 k)

Jor MfafRar & fov dgifas s @ AH 319 &= & 60 &gr oar &

CHy () + NH3 (g) = HCN (g) + 3 Ha(Q)

SHHT I BIaT-

Options:
1. % 103.3 kJ

> #® -103.3 kJ
3 v 260 kJ
4 % -260 kJ

Question Number : 33 Question Id : 12661 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Which of the following consists of discrete polar molecules at room temperature?

Options:

> o RaCly
3. % HCN
4 % F)

Question Number : 33 Question Id : 12661 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fersfofad & & fad & & av W fafawd (Bahe) gd 3o) 9 sid 67



Options:

, » RaCl
z ®& HCN
4 % F2

Question Number : 34 Question Id : 12662 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

When asked to match the followimng compounds with their shapes as predicted by
VSEPE. theorv. the correct choice to be made by students would be

(1) Bi1F; (I) Trigonal planar
(1) HCN (II) Bent

(u1) BF; (III} Square pyramidal
(1v) SO, (IV) Linear

(v) SCla

Options:

1 o 1= u-IV.m—-I. w-II. v-II
o % 1—L on-I wm-II w-II; v-IV
z % 1—H u-I; wm-~-I0I; ww-I; v-1I
g4 R a3k p-Hau- w-IE v-I¥

Question Number : 34 Question Id : 12662 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

ST VSEPR Tiard gart fGv a0 AT & 3elaR, o AR &0 3ade 3R &

Ty el &¥e & oI &gl amam, of o gall 3ok & &9 # f&ar S arerr #@er
Tdehed G-

() BrFs () TSR HAT (SrSalleel o)
(i) HCN (1) e (32)
(i) BF3 (N @97 oS
(iv) SO, (Iv) fas @fam)
(v) SCly
Options:

1w b=l =N s =0 v
> ® b= W-H -l nv-; v-I¥
z R I-HGii-kiai-1 -1 v-I

4 8 I=Kit-1 -EN=IV-N

Question Number : 35 Question Id : 12663 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Bond order in NO, " 15
Options:



Question Number : 35 Question Id : 12663 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

NO,t # a5 & ¢
Options:

1 % 15

2 & 2

3 % 3

4 % 4

Question Number : 36 Question Id : 12664 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The molecular orbital diagram for the carbide 1on (C 31'} would show which of the
following molecular orbitals?

Options:

| % Ols2 912" G252 G252™ Mapy

5 «f O152012" 622 G252™ M2ps G2

* # *
= W G122 O152 " 0252 C252° M2p4q O Top2

4 % O1:2 010" 6253 620" Mapy C2p) Myps™

Question Number : 36 Question Id : 12664 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FEEs FEA (Co2) & v smoifas sifdew sma Srafafaa § § frg sofas
IHifaeol & UgTad Hiam?

Options:

1 % T1s2 01s2* 025) 07g)* ™ip4

o of B2 TISHE OPRg DI IR Ulpo

5 8 Elsd TR 0Ey DS nd Ulpo nondr
4 % T1s2 U152* 0252 U5)* TIp4 02p2 Trp4*

Question Number : 37 Question Id : 12665 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

A student 15 asked to add an 100 gram of ice cube to a 250 ml beaker containing 100 ml of water.

note and justify his'her observation. Which of the following answers reported 1s correct?

Options:

1. ¥ The ice cube sinks to the bottom and water level rises to 200 ml due to Archimedes principle.

2 % The ice cube is half submerged. However, the lower meniscus of water rises by only 25 ml due to
enhanced dipole-induced dipole interactions between ice and water, respectively.

3. ¢ Ice cube floats in water as density of water 1s higher due to hydrogen bonding.



4 % Ths 15 a typical demonstration of anomalous behaviour of water where ice has high density by
virtue of its compact packing as a result of low rotation of molecules and hence more efficient dipole-
dipole interaction.

Question Number : 37 Question Id : 12665 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

T B S 100 Al gl § o va 250 AT & diy A 100 o 3159 Fgd Ao
T, B areil TohaT &1 Al #la T 38d Hddlhd &l Jol Aldd #la & [T Hel Al
¢l Tov 7w AraAfei@d sardl # § &9 @1 @er 57

Options:
1. %

HSH FF dell 7 39 AT § AT T T AR ASS [Fard F Fgar 200 Hefr aF
9 ST §l

2 ®

IS T 3MMET Sacl §1 grenieh, HAW a6 HR I6 & 37 vepres seae-akd
ST HA:fRAT & FROT 96l Aae AT § daa 25 e dJear &

3. v

ST FF Tl A oRd &, FF F3erad @iesd & HRUT 9Tl & Odcd 399 ol

4 #®

I Ulell & fauA cuagi &1 Us fafase yedle §, S8 9 &7 Hefcd 30031 & FHH =hUT
& aRoTATEET ST dirdae 3T & a0 FT a9 ¥ 399 aar ¢, 3R sufov wEw
g SIOTE-STdre 3d: T AT B

Question Number : 38 Question Id : 12666 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The concept of physical equiibrium has to be demonstrated to junior students during practicals. Which
of the options below will be the most appropriate?

Options:

1. % Heating iodine crystals in a petridish and partially covering the petridish with an inverted funnel to
allow iodine crystals to condense onto the inner surface.

2 % Preparing a saturated salt solution in an open beaker with unsaturated salt settled at the base.

3. % Placing water in a comeal flask and deseribing the evaporation and condensation phenomenon.

4 + Placing water in an evacuated vessel with a manometer connected above water level and
observing over a period of time the change in manometer reading.

Question Number : 38 Question Id : 12666 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

VAR & ERIE SaX ol & #ifas Sdere &1 FaaRe & e B S e g
fArAfef@d fawedl # & Hid o1 Fafee IUgad Glan?

Options:
1. %

TS fohEeell &I ATde Hdg 9 adibd dta & foIv T 9éifser & 3malsia fheeel
I TTH FLAT dAT Teh 3c9el 9 HT Ace T UEIBYT &7 3079+ &7 F aFhar

2 ®

dell 9T STAT 3HdCd ofdol & A Ueh gol diehd H Teh Htd ofavl [deldst o) el




z %

Udh 9FdIR FoATEh H i {EAT JT diediehiol Ud 9«4 & 88T & doid i)

4

ST T & I I3 UH HeAlART & A UF @l add H 9l I@aT 9T 98 & a@rT

Heareer {9 7 g1 ooy afgaar &7 3ddisd S|

Question Number : 39 Question Id : 12667 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

During inorganic estimation, the student has started analysing the unknown sample
provided for presence of group III and higher cations. He has added ammonium chloride
to the sample containing test tube. Identify the correct statement.

Options:
1. ¥ Student should have added ammonium hydroxide before adding ammonium chlonide for correct
observation.

2 % Sequence of adding ammonium hydroxide or ammonium chloride does not influence the
identification of group IIT cations.

3. ¢ It is necessary that ammonium hydroxide should be added after ammonium chloride as this wall
suppress hydoxyl 1on dissociation and avoid erroncous precipitation of Group V cations.

4 % Student should bubble hydrogen sulphide gas after adding ammonia to identify group IIT cations
as their sulphmdes.

Question Number : 39 Question Id : 12667 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

HepTelfoleh Aol & GRIeT, BT of AR Il F2T I==ay dalrgelt i 3uieufd & v gee

T a0 AT AT &7 [TeooT el 9% Rl 38« e oJd A W 90 a7 A

HAATA FaRSs THATAT| 96T S0« & 9gard il

Options:

1 % BTT DT eI NEIT &1 Tl T M- 7SS el & ugel MITIW 849158

=T =gy am

> % IMIFIH FIESIFAIES T AMHIA TS et o1 v |3qg 111 g1 hi

UEAT @l TTT a1 LTl

3. ¥ I AT § [91 MW FARISS h F1E MW FIESIFAISS WeArdT AT
, Jieh g IS ader AT TSI @l sTTd AT 997 GYg V 4RIl & Terd

SAETGUTT T A

4. * BT B GHg 111 gATIT 6l ITh YeWwIsS! & €7 § UG 6 & 7 AT

e % a1, gres I Heth1gs T4 o getefel HalTige He ATgUl

Question Number : 40 Question Id : 12668 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Le Chatelier's principle demonstration using the following equilibrium has been set

up n a closed vessel at 2-3 atm pressure and 400-450°C temperature.
2580, (g) + 03 (g) = 2 505 (g)

Which of the following changes will not affect the equilibrium?
Options:



1 % the reactants concentration
o o addition of 2 litre of helrum gas
= % lowermg temperature

4 % catalyst V,05 addition at 2-3 atm pressure.

Question Number : 40 Question Id : 12668 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

feFaTelad Tcelel T 3T aeh o =il & RHard &1 ugelel 2-3 &5 argAsay
ard dT 400-450°C a9 @ U &5 d9d4 # g fRar mam g

2505 (g) + 07 (g) = 2 SO3 (g)

fFe A & &l a1 aRadel Tddel & THITad 61 HEm?
Options:

1 #% ¥fFERSr Fr G

5 o 2 FieX gifoad 39 @ FemEr S

5 % d9 &l A HAT

4 % 2-3 SIS aIgASeNY gd W IRE Vy05 i HfaRerdarn

Question Number : 41 Question Id : 12669 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Hy(g)+ L (g)=2HI(g)

15 a typical homogeneous equilibrium reaction. Which of the following statements
will nto be true for an equilibrium constant?

Options:
1 # Value of equilibrium constant for a particular reaction 1s function of temperature.

> % Value of equilibrium constant 1s not a function of uutial reactant concentration.
= % Value of equilibrrum constant depends on the units of active masses of reactants and products.

Catalvst. stoichiometric coefficients and Q alter the position of the equilibrium and hence the
4 + equilibrium constant.

Question Number : 41 Question Id : 12669 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Ho (@) + 12 (@) = 2HI (g)
e fafdrse gardr adea @R § feafefaa 7 @ ald @1 Fad v g
e & TOIT | 6T grem?

Options:
1. %

U a9 EATHAT & v Ao 2R A i &1 e ol

o W

Aol FaIE & AT GRS AfeNa dedr & Fald 760 ¢

3

Hotel 2RI &1 Al 3EHRE U 3cUEr & Alhd SedAEl &l swhsal W s adr
gl




4
3R, TEISfhatARRE qoNs dur Q Hdole H Fufa qur sad @ & Sdee RS
&I dgel &d bl

Question Number : 42 Question Id : 12670 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

1 litre acidic buffer of pH 4 8794 has been prepared in lab. It's buffer capacity can
be determined by

Options:

1 % Calculating H;O7 10n concentration and dividing by %2

> " Adding fixed moles of NaOH. notmg the new pH and deternmuning ratio of the two.

Adding fixed moles of KOH. noting the new pH and determiming the change 1 H;O0" 1on

= #  concentration.

4 % Taking the ratio of concentrations of acid and the salt used to prepare the buffer.

Question Number : 42 Question Id : 12670 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

AT A drve 4.8794 FT 1 Wl 3FeiT a Jd [T I | STdT aT &THr
& ToeiRa fomar o gear &-

Options:
1. %

H3O" HE AIgar &l 30T el adl % ¥ Taenfaa &
2 &
NaOH & Tia Ater Feern, @21 pH A Al ¥ aur gt &1 35ead Feiia

AT
5 ®

KOH & faefifta \rer Tenan, &am pH A1 Al &Xar dor HyO' 3 diegor &
uftaas Fuifita &
4 ®

TS TAT a9 AR & & [T qged SavT I Wedi & AFurd A S|

Question Number : 43 Question Id : 12671 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Match the oxidation numbers with the respective underlined elements in the species given:

(i) 10y (1) +5
(i) ClO° (I) +1
(iif) S, 057 (IID) +2
(iv) PO, 3~

Options:

1« 1—L u—ILm—MI iv—1

o % 1—n-I m-I, w-III
z % 1—-L #-JLwm-Ilw-0
4 % i=Ma-0 m~-0; w=1I



Question Number : 43 Question Id : 12671 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Trrafai@a venfadl # Fafaa {@ifed doal & |1 a0 GEanst & Hee &
() 1035 () +5

(iy ClO (1) +1

(iii)) 5057 () +2

(iv) PO

Options:
1w 0= b= i - -

H; it = F i - I; -1
otk = Il e -
HE-—d8 = W=

E.Wi

g_ﬁi

4 % I

Question Number : 44 Question Id : 12672 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
The redox reaction given below can be balanced as:

pCIJDTL_qCIOf'ﬂ'r[—l— - sC1‘3_—tCDl +uH,0
Options:
1 % p=2q-—3r-T, s—4t=6u-7

> % p=3q—21-06, s=6t=-4u-3
z o Pp=lig=3r-Ms=-2t=-6u-7
4 % p=liq—Lir-Mis=-2it-4u-7

Question Number : 44 Question Id : 12672 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TlFaolad {Siae 3TERRaT & dqiad haT ST FehdT ¢
p CryO7% + q Co042 + rHY 2 s Cr¥* +t COy + u HyO

Options:

1 % P2 =351 s =41 6 0T
> % Pdi g T-6; 56T~ 4; u—3
z wP=digafr=-1s-2Zt-;d -7
4 B Pidi =T TS =2 V00l =7

Question Number : 45 Question Id : 12673 Question Type: MCQ

Correct: 1.0 Wrong: 0.25

Oxidation states of bromine atoms in Br;Og from left to right in sequence will. respectively. be
Options:

1 ® +4+6+4



> ® +6.-2.16
z % +2, 46 +2

4 o +6.+4.+6

Question Number : 45 Question Id : 12673 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

BrsOg # giiHle TAHT & Haiiaor §EAIT a1 ¥ ¥ & HH A, HA: Gall-
Options:
1 ®% +4,46,+4

o % +6,-2,+6
=z % +2, +6, +2
4 16, +4, +6

Question Number : 46 Question Id : 12674 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following is not a disproportionation reaction?

Options:
, % Py(s)+3OH (aq) +3 H,0 (1) & PH; (g) + 3 H,PO, (aq)

5 « 2F (2)+ 2 OH (aq) > 2 F" (aq) + OF, (g) + H,0 (1)
5 % Sg(s)+12 OH (aq) > 4 S* + 25,05 (aq) + 6 H,O (1)
4 % Cly(g)+2OH (ag) % CIO" (ag) + CI" (aq) + H,O (1)

Question Number : 46 Question Id : 12674 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

foret A @ ol O v AR TR 78T §?

Options:
1. % Py (s) + 3 OH (aqg) + 3 Hp0 (I) 2 PH3 (g) + 3 HyPOy" (aq)

. w 2Fy (g) + 2 OH (aq) > 2 F (ag) + OF (g) + Hy0 ()
- % Sg (s) + 12 OH (aq) > 4 SZ + 25,03 (aq) + 6 HyO ()
4 % Cly (g) + 2 OH (ag) > CIO™ (aq) + CI (aq) + HO ())

Question Number : 47 Question Id : 12675 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Based on their type. the given crystalline solids may be paired as

(1) naphthalene () molecular solids
(1) silicon carbide (II) 1omic solids

(111) Barium sulphate (III) covalent solids
(1v) silver iodide (IV) metallic solids
Options:

1 % {0 -1 ()L (uy-qQV); (m)—1
o> % () -IL (u)—IV: (u)—{I0): (v)—-III
=z % () -II: (u)—-IL (u)— I @) -1V



4 o @ -1 () -1 (i) — AD: (iv) 11

Question Number : 47 Question Id : 12675 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

WehRT & AR W, f&v a0 fheeea ardl &I arafaf@a altd § gFAd fear 51 geahar
a

ip-Hersiiciie (1) 3o

) i Iy 3 B

(iii) aT=H et (ll) FEESE o

(iv) e 3TaTESs (IV) enfeaess o/
Options:

Cox () - WGy - & Gy - (V); (i) - 1)
o ow () - I Gy - IV; (i) - (0); Giv) -
2 % () - W (i) - I (i) - (); (iv) - IV
4 () =L (i) - N (i) - (I (iv) -

Question Number : 48 Question Id : 12676 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The characters stated below can be ascribed to the presence of

(1) Undisturbed stoichiometry
(11) Low co-ordmation number

(111) Increase in electrical conductivity and dielectric constant of the crystal.

Options:
1 %" Frenkel defect

- % Schottky defect

= # interstitial defects

4. % lattice defects

Question Number : 48 Question Id : 12676 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

feFafof@d aom &1 &1 3ufeafa & v SreR A= a1 9T &
(i) JraTferd EeisfRaadT

(i) T&FaT THA-aT (F-31TE090) T

(iii) fereeer & facgd =MeldhdT Td Wrdegdrh & Jia|

Options:

1 hehel Tothae
> ® 9l Bhae
5 % Hoeg (Seetecyr) Bhae




4_%3}%%@

Question Number : 49 Question Id : 12677 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A solid A"B™ has NaCl type close packed structure. If the anion has a radius of

2415 pm. mmnimum possible radius of cation and radius of tetrahedral void will be

Options:
1 % 1058 pm: 422 pm

~ #% 1157 pm: 75 pm’
=z % 102 pm: 45.1 pm
4 « 99.8 pm: 54.34 pm

Question Number : 49 Question Id : 12677 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

U B ATB & §X=ar NaCl eey Fae Y9 §1 afe Fwomae & Be=r 241.5 pm §,
dl 9eliel &7 e gadA @Hd TSI aur Sgesd aiss @ Bedr gl

Options:
1 % 105.8 pm; 42.2 pm

> % 113.7 pm; 75 pm'
=z % 102 pm; 45.1 pm
4« 99.8 pm; 54.34 pm

Question Number : 50 Question Id : 12678 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Atomic mass of an element having densitv 8 gcm‘aﬂ BCC structure and cell edge of 250 pm will be
Options:
|« 376 gmol’!

> % 428 gmol'l
= # 136 .ugnml'l
4 % 122 ngmol!

Question Number : 50 Question Id : 12678 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

8 gcm™ Bdca, BCC == T 250 pm #d U dTel U dcd &l AT R FRT-
Options:
, « 37.6 gmol™

> % 42.8 gmol™
= % 15.6 pgmol™
4 % 122 pgmol™

Question Number : 51 Question Id : 12679 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



For the reaction

Ag,0 (s) =2 Ag () + %: 05 ()

30.54 kJmol! is the change in enthalpy and that in entropy 15 0.06 kJ Klmoll at 1 atm. The
temperature at which AG 1s zero and direction of reaction at temperature lower than that will be

Options:
1 % 610K AG=

> % 580K:AG>
= % ST0K:AG =
4 & S09K:AG=

o o o o

Question Number : 51 Question Id : 12679 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

=5 HMEGRT & ©F

Ag,;0 (s) = 2 Ag (s) + 2 Oy (g)

1 aEsT gld W vearedt F afada 30.54 kdmol! & Fur verdr & oftads 0.06 kJ
Klmol! | a5 am, 59 9 AG =T ¥ T 398 &8 AT W fEafEar & e gef-

Options:
1. % 610 K; AG <

> #% 580 K; AG >
= % 570 K; AG <
4 « 509 K; AG =

o o O o

Question Number : 52 Question Id : 12680 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Given, AH = 7.25 kImol ! and AS = 0.007 kJmnl_lK_l, what 1s the melting point of KCI1?
Options:
1. % 11125 K

2 ¥ 1035.7K
3 % 42958 K
4 % 48952 K

Question Number : 52 Question Id : 12680 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

R ®, AH = 7.25 kJmol * 8t AS = 0.007 KJmol K 1| KCI wr meriar ar

Options:
1.% 11125 K

z v 1035.7 K
3 % 42958 K
4 % 4895.2 K



Question Number : 53 Question Id : 12681 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
For the reversible adiabatic expansion of an ideal gas

Options:

1 % ASis positive
= % AS is negative
3.9 ASis 0

4 % may be positive or negative depending upon temperature of the gas

Question Number : 53 Question Id : 12681 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

TF HEY 9 & Sorpavia Tare (Rafew vianifes) Twar & o
Options:
| % AS SACH® §

i AS FOTcHS %
5 AS AT &

4 % T & AUHS & FUR W ACHF AT HONCHE & Tl &

Question Number : 54 Question Id : 12682 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

[f the standard free energy change for a reaction 1s 1.346 kJmol™! at 500°C then the value of standard
equilibrium constant for the reaction 1s

Options:
1 % antilog (0.105)

> « antilog (-0.105)
= % antilog(0.24)

4 % antilog(-0.24)

Question Number : 54 Question Id : 12682 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

5000C @ x#f#Iferar & o s Fea > aR@ds 1.546 kdmol™! &, ar s#fafear &
o AT Hdoe Ui & A e

Options:

| % Ugrarr (0.105)

o  TEEaT (-0.105)

5 % Teraer (0.24)

4 % T (-0.24)

Question Number : 55 Question Id : 12683 Question Type: MCQ

Correct : 1.0 Wrong: 0.25
A process which 15 unfavourable with respect to enthalpy but favourable with respect to entropy

Options:
1 # could occur at low temperatures but not at high temperatures



o o could occur at high temperatures but not at low temperatures
= % could not occur regardless of temperature

4 % could occur at any temperature

Question Number : 55 Question Id : 12683 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

U Gishdl, ST UedATedl & Tae # Yiddd § fdeg Uegrdl & Haw A e ¢
Options:

| x ToET A9 9 G TRl §, fhed 3T a9 oY AET @7 Wehdl! ©

. o 3% O W & Gl &, Foheq Toleet a9 o 7/¢T & Fehell &

= % O % 9AG & Tae gied @l 87 Hehdl

4 % fRET o a9 X g7 ¥l &

Question Number : 56 Question Id : 12684 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Mass of sulphuric acid present mn 100 cm? of a decimolar solution will be

Options:
1 & 049 ¢

o W 49¢
2 098¢
4 #® 08g

Question Number : 56 Question Id : 12684 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

vk 3EETR faeaea & 100 SH° & 3uftud GewRe URiS & aedAE g

Options:
1. % 049 9

- ® 49 97
= & 0.98 ar

Question Number : 57 Question Id : 12685 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Solution prepared by mixing component A and B in 4:1 ratio led to the below observations:
(1) pa=pa” 7a:PB=PR" 1B

(11) cooling of the beaker containing solution

(111) AH mixing =0

Thus. it can be concluded that

Options:
1« the solution 1s non-1deal showing positrve deviation.

- # the solution i1s non-ideal showing negative deviation.

= % the solution 1s 1deal and dissolution 15 endothermic.



4 % component B is a gas and the dissolution obeys Henry's law.

Question Number : 57 Question Id : 12685 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

farafafad el & <1 # IW@d §Y AaTdl A T B & 411 & 3qad # Fena
AR e

() pa > Pa° xA: PB > PB° XB
(i) Toorge gord iRt &1 efiders

(i) AH mixing > 0

ST Y, I% oISy fadrer =7 Oar & -
Options:

| v oo ueeAs faged vefiia axa aren IR-31eer e B

> % Taoas FoTeAs faoea ugieid e aen IR-31ee faeas &l
- % faoae e § dur fagea FwAmeir §

4 % Td B UHh A9 § T Ruea A F FE & e w=ar gl

Question Number : 58 Question Id : 12686 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Osmotic pressure of a urea solution at 25°C containing 5 gram urea (molecular mass 60) 100 cm”
solution will be

Options:

1 % 26.2 atm

o ® 32atm
= #® 124 atm
4 % 204 atm

Question Number : 58 Question Id : 12686 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

259C 9x 5 @ gRAT (397R 60) 100 §&T * faeger goa ve giar e @
WERUT (3EAIEE) S BEm-

Options:
1 % 26.2 atm

- #® 3.2 atm
= #® 12.4 atm
4 « 204 atm

Question Number : 59 Question Id : 12687 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Amount of KC1 (molecular mass 74.3) that a student will have to add in order to depress the freezing

poumnt of 1 kg water by 2 K (K for water=1.86 K kgmol'l}

will be
Options:



, % 2001¢g
> % 574g
5 o 4005 ¢
4 % 1020 g

Question Number : 59 Question Id : 12687 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

KCI (3191 74.5) & ag A &, S U ©F & 1 TR uier & BEe (B
gise) A 2K (9t & o Ky = 1.86 K kgmel ™) sr@mifed &=t & v fAemar gem)

Options:
1. % 20.01 @

o ® 574 4w
z. ¢ 40.05 3
4 % 10.20 3w

Question Number : 60 Question Id : 12688 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
An expeniment based on concept of colligative properties mmvolved preparation of solution of 1. 23 g

calcium nitrate in 10 g water. It boils at 100.975°C at 760 mm. van't Hoff factor for the salt will be
calculated as (molecular mass Ca(NO;3), = 164: K¢ (H,0) =D_53Kkgm01'ljl

Options:
1. %3
2. ¥ 2.5
= %12
4 % 0,73

Question Number : 60 Question Id : 12688 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

IUIEE IOTEH (FifeRifed I[0T) $H HTUROT 9T HENd U yeT # 10 aF O #
1.23 " ey aAsee @1 Aoaa g1 onf#a &1 98 760 84T g ™
100.975°C W 3didr §1 @dvT & o0 aie g% theex T a7o7ar & Sreai-

{STU;ETIT Ca(NO3)s = 164; Kf (Ho0) =D.52Kkgm0|'1]
Options:

1. % 3

- o 25

z % 1.2

4 % 0.75

Question Number : 61 Question Id : 12689 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

A student 1s plotting data obtained for the first order reaction based experiment assigned to him.
Which plot will be the correct representation?

Options:



1.9

log,,[A] \

Time (1) =)
= R
log,,[A] /
Time (i) ﬂ
3 ®
log,, k \
/T —
4 ®
s /
log,,
T —p

Question Number : 61 Question Id : 12689 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

U &9 39 U 310 YA A ATHARAr 9 Heniig 9aeET & ©0 9red 221 & A 9
e ield &Y GT §1 i O tolle T@r fasaor gem?

Options:
1. ¢

T \
log,,[A]

Time (t) —>




,

|DE.:|P\|

Time () ——>
z %
logmk

T —
4 ®
— /

T —

Question Number : 62 Question Id : 12690 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

A student while reporting data has done the following. Identify the error commuitted by him/her.
Options:

1. % specific reaction rate has been taken as constant and has been reported in mol LA 17!,

2 # rate equation based on law of mass action has been used to determine overall order of reaction.
3. % fractional order of reaction has been reported.

4 % rate constants obtained at two different temperatures have been used to determine the energy
barrier of reaction.

Question Number : 62 Question Id : 12690 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

U B o ser f e s wwg Teafaf@a &= e §1 386 garr &1 75 arerdr

I gl Y|

Options:

| % frdiw afafmaT 2 Bt [eriw & e & forar mar g gar mol ML s F e
o T B

2. ¢ STATHAT & AT TF @7 T T & T Segar Thar & F o 3meia &
FHITT T W= T T

z % 3riTehaT @7 3riferw ww &t T T 2

4. % JITATHAT &7 F=1 ST BT FHUTOT Hi & g & 97 9o o2 urg g 1y 22
T3t @1 v fomar T B



Question Number : 63 Question Id : 12691 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

By plotting experimental data. student obtamned a lmear plot of logy k vs 1'T having slope -5841

K. Energy of activation for the reaction will be
Options:
1. % 105 kJ mol’!

> % 8342 kJ moll
3 % 243 kI mol!
4 « 111.8 kJ moll

Question Number : 63 Question Id : 12691 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

UIRTcHS 3T & H&90T &l OX, &F o -5841 K & &9 & &1 logyg k vs 1T &1
s e oare ured fRam sfaEtear & e afegor & =1 g

Options:
1 % 105 kJ mol!

> % 83.42 kJ mol!
z % 243 kJ mol!
4 + 111.8 kJ mal?

Question Number : 64 Question Id : 12692 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

[dentify the false statement:

Temperature coefficient of a reaction

Options:

1 # having value 2 mndicates doubling of reaction rate with 10 degree rise in temperature.
> % 1s usually calculated at 35°C and 25°C.

= o 1s mfluenced by the moleculanity of reaction.

4 % 1sratio of rate constants of the same reaction determmed at two different temperatures.

Question Number : 64 Question Id : 12692 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

el Fo0eT T U= Y Teh ATEATHAT & arg aom-

Options:
1. %

& Al 2 5l A # 10 330 & gfg & Ty 38R $r eX & S gl & g
AT ¢

2.%

&I 0T WATIA: 35°C 3 25°C 9T & omr B

2 v

yifsiferar fr orfasar & wenfag g ar &1

4 %

ar féeet amt W foreia &1 v 1 31fafohar & X TOurierl &1 3reqard 8l



Question Number : 65 Question Id : 12693 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
The reaction

5C,0,2+ 2MnO, = 16 H™ = 2 Mn™™ +10 CO, + 8 H,0

accelerates with progress of reaction. Thus, 1t 15 an example of

Options:
1 % induced catalysis

o o autocatalysis
= % promoter enhanced catalysis

4 % Negative catalysis

Question Number : 65 Question Id : 12693 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

HidfRT
5 C504% + 2 MnOy + 16 HY = 2 MnZ* +10 CO; + 8 Hy0

sifaiferar 1 yaifa & aryr o g ST 1 59 9K, 9% T U 3EEIT &
Options:
1 % URE 3T

o o Td IcOOT
5 % TIUH ZaRT afdd IR

4 % FHUMcHSG IcUXUl

Question Number : 66 Question Id : 12694 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Conductivity cell experiment using 0.05 M NaOH solution shows the resistance of 31.6 ohms. If the

1

cell constant 15 0.367 cin ™ *, molar conductivity of the solution 1s

Options:

1 ® 0232 ohm ! em?meol!
o W 543 ohmlem?moll
=z ® 116 ohm ! em~mol!

g4« 232 ohm ! em?meol !

Question Number : 66 Question Id : 12694 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

0.05 M NaOH Taeae 7 393797 &dah ThaT 1T Iielchdl O 9479 31.6 3H &1
ufaRrer yefsa avar &1 afe o« s 0.367 9! &, o faeaa & 8 aresar &

Options:
1 % 0.232 ohm'emZmol’

> % 543 ohm'emZmol™
= # 11.6 ohm 'emZmol™’

4 + 232 ohm'emZmol



Question Number : 67 Question Id : 12695 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Tonic conductance at infinite dilution of AI>" and SO 42' ions are 189 ohm ™ cm’mol ™

and 160 nhm'lcmzmﬂl'l, respectively. Molar conductance of AIZ(SD 4)3 at infinite

dilution is:
Options:

1« B58 ohmlem?mol !
o #3409 ohm ! em?mol !
= w (9% ohm em?meol!

4 % 887 ohmlem?moll

Question Number : 67 Question Id : 12695 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

APt and SO4% & 3ad dAdeYT W HAfeis reishar waer: 189 ohm™'em?mol ! dam
160 ohm 'cm?mol™ &1 Hed TgaoT W Aly(SOy); &1 HIeR TTeiehal 6-

Options:

1 « 858 ohm'cmZmol’

> % 349 ohm 'cm?mol’

= % 698 ohm 'cmZmol’

4 % 887 ohm 'cmZmol’

Question Number : 68 Question Id : 12696 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Cell potential at 298 K for the cell

Zn(s) | Zn®" (0.1M) || Sn™ (0.001M) | Sn(s)
constructed will be,

given By a9, =-076V

ESnl— Sn 0.14V

Options:
1. % 062V

o o 0561V
3 % 082V
4 ® 09V

Question Number : 68 Question Id : 12696 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



O & @7 298 K @ O @sa

Zn (s) | Zn?* (0.1M) || Sn2* (0.001M) | Sn(s)

=fd= g,

e & Eznpeizn =076V

Esnzeisn = 014 V
Options:
1. % 062V
o> « 0.561 V
z ® 0852V
4 % 09V

Question Number : 69 Question Id : 12697 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Maximum electrical work obtained from the above cell given in question number 68 under standard
conditions will be

Options:
1 % 29915 kJ mot!

> % -311.29 kJ mol!
% " -119 kI mol!
4 % 77.82 kJmol?!

Question Number : 69 Question Id : 12697 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Aleeh ORFEATTAT # wesT §&1 68 # ST 10 3WIed del & Witd 3ifdead fdegara
4 -

Options:

1. % 299.15 kJ mol?

> % -311.29 kJ mol™’
= « -119 kJ mol™’
4 % 77.82 kJ mol!

Question Number : 70 Question Id : 12698 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Identify the statement inapplicable for H,-O5 fuel cells.

Options:
1 % Porous carbon impregnated with Pt. Ag. CoO catalyst forms the electrodes.

= % Grven uninterrupted fuel supply. the cell can operate incessantly.
= % The byproduct water can be utilised for different purposes.

Almost hundred percent efficiency and catalvst enhanced high rate of electrode reactions make fuel
4 + cells undisputable source of energy soon to replace conventional sources.



Question Number : 70 Question Id : 12698 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Hy-0, o1 Tell & T 3a9ed & 1 dgara X
Options:

; % Pt Ag, CoO 3! & a1y fRTAT 9RE &ed, Seders & f#Am0T aar 2
o % $U @ Taater 3gfd U S W, el THAR HH T Thd G
5 % HE3cUE & I # Ic0ed Ul & Affed gl & v 3uaer fear i gwar g

oaTeTaT Ot widerd geTar T soigers HiafRarT & IoRe Tafda 3= T Sodr &
SeTeT oIl ol TWETT Aldl &7 gcold & o FaT & [&fdae @g & &7 & Tnfog &1
4 o I

Question Number : 71 Question Id : 12699 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which of the following is not based on principles of adsorption?
Options:
1 % titration of KBr agamst AgNO3 using eosin indicator.

- % use of silica gel to maintain dry conditions for sensitive instruments.
= « separation of components of mixture by virtue of differences 1n mass.

4 % separation by partifion chromatography of components of a mixture.

Question Number : 71 Question Id : 12699 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

o 1 O Fi9 91 v & FBear 9 smenRa 857 &7

Options:
| % S3S Tt &1 39T & AgNO3 & TEe® KBr & AT (S5¢er)|

o % Gdgaeie IURIEN & forw e feufaar aame v@s & fav f&fowr Ser & saar
5 o GOA H fEeadrial & AR O @0 & gadl & gUERoT|
4 R T A0 & Haudr & [GeTad HHCHITH ARl JUa{oT|

Question Number : 72 Question Id : 12700 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Lvophobic and Iyophillic sols cannot be distinguished on the basis of

Options:
1 « Formation of dispersion

> # level of hydration
= % reversibility

4 % viscosity with respect to dispersion medium

Question Number : 72 Question Id : 12700 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

feramifas dur feranfthiees ded @ & WU WX Gaea 761 fear o

Tl &
Options:




1. ¢ WHNR &l TS

> % BIESed & FX

3. % SchAOTEr

4 % UOR AIH & Geel A A=l

Question Number : 73 Question Id : 12701 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Rate of chemisorption

Options:
1 # decreases with mcrease of pressure

o o increases with increase of pressure
= % 1s mdependent of pressure

4 % 1s mdependent of temperature

Question Number : 73 Question Id : 12701 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FiATTT & X

Options:

| % @& # & & Ay g el §
o S A gRE F Wy e S §
2 ® mﬂﬁﬁj%

4 B a9 ¥ Tadd &

Question Number : 74 Question Id : 12702 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
[dentify the incorrect statement.

Options:
1 # Heterogeneous catalysts primarily function by lowering the activation energy of the reaction.

- % most heterogeneous catalytic reactions mvolve solid surface of catalyst.
= «" the catalyst may be deactivated by heating 1t to a high temperature mn vacuum.

4 % asold catalyst present i powder form 1s more effective due to higher surface area

Question Number : 74 Question Id : 12702 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

el A ! TEdT &l
Options:

| ® TS 3cuRah HEdd: Hisferar $r afmam FAT & FH FF T F T B

o % e Ao 30RE HEAfFaHT & 3ORE & o @ag oA g &
3 « 30R& & Hdid A Tk Io A9 W I a¥ah [AfSHa AT S dehar g
4 % UI3sY & ®9 H AlSg UF o 30R® 399 §dp ATAhd & SROT HEE 9T g §

Question Number : 75 Question Id : 12703 Question Type: MCQ
Correct: 1.0 Wrong: 0.25



At 1soelectric point.

Options:

1 % acolloidal particle moves towards cathode during electrophoresis.
- % a colloidal particle moves towards anode during electrophoresis.

= « acolloidal particle shows no movement towards either cathode or anode during electrophoresis.

4 % pH of medium becomes 7.

Question Number : 75 Question Id : 12703 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

ImsHEdlacE fag @,

Options:
1 &

UF FHIASSH HUT dCIAROTHTAA (SHFCIHRIGH) & GHIT oS HT 3 1 ¢

o %

UF PSS HUT degadOTaaes & NI Tals I HT ST

3

T HIeNS5 HUT degdhv=cie & GRle als a1 UeAls & & Tl &r it fgen & @1
afa AT AT §

4 ®

AregH &1 pH 7 g Sar &

Question Number : 76 Question Id : 12704 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Heavy water used m nuclear reactors contains

Options:

{ % hydrogen in excited state
o # trittom

= % deuteron

4 % deuteriumn

Question Number : 76 Question Id : 12704 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

AT Ruaedl # ugad AN Fd A oA 7T ¢
Options:

| % 3cdfeid ae #H s

Question Number : 77 Question Id : 12705 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Which of the following statements regarding water 1s not correct?

Options:

1 % high dielectric constant and strong call solvating power make water and excellent solvent.



- % water expands on freezing.
5 % density of water 1s maxmmum at 4°C.

4 « on cooling density of water decreases upto 4°C followed by increase upto 0°C.

Question Number : 77 Question Id : 12705 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Ul & Jay d Aaefaa suat 8 8 i ar oy 387 87
Options:

| w 3 WIS dA Hslqd Hiel Taende ferd Uil H JHidE Iefoe faorde aed 6l
5 % Ul STHe U el B

5 % Tlell &7 Tefcd 4°C = HfERas gar ¢l

4 « O3T & 9 4°C GF Uil F Gelcd & g & arg 0°C I& Jed1 ¢

Question Number : 78 Question Id : 12706 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The mass percent of H,O, mn “30 volume H,0, 15

Options:

1. % 456%
o« 911%
2 ® 11.39%
4 % 1367 %

Question Number : 78 Question Id : 12706 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

'30 3R HyOy' & H,05 &l gcdATe widerd &

Options:
1. % 456 %

> & 911 %
2. % 11.39 %
4, % 13.67 %

Question Number : 79 Question Id : 12707 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following may be treated as polymeric hvdride?

Options:
1 « magnesium hydride

- % sodium hydride
= % titanmum hydride

4 % calcium hydnde

Question Number : 79 Question Id : 12707 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

frraefaa #& ¥ S aieARE 315355 & §9 & 3uamiid f&ar 31 |ar 872

Options:



| HIAITEEA §Esss
5 % GISTH 3353
= % CIScldaH EIssEs
4 % HICUTH FIEIBES

Question Number : 80 Question Id : 12708 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following substance in the fused/ liquid state will Liberate H> at anode on electrolysis?

Options:
1. % NaOH

3 ® HCI
4 % HyO

Question Number : 80 Question Id : 12708 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

serercIolf e A ot & o il o1 uere Wes/aid 3aer # T6ls W Hy Hed Han?
Options:

1. % NaOH

5 of CaHs>

z. % HCI

4 # H20

Question Number : 81 Question Id : 12709 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
CO; cannot be obtamed by heating

Options:
1 e NaJCD3

- % CaCO;
=3 i’ leCDa
4 4 CEIEI‘ICD3}1

Question Number : 81 Question Id : 12709 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

& T T & @ COy FT WIed FgT FohaT ST bl &

Options:
1 v NE]ECD3

., % CaCOs
2 % LipCOs
4, % Ca(HCO3);

Question Number : 82 Question Id : 12710 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Some of alkali metals” salts are coloured: Na:CrOy4 - vellow, KMnOy4 - pink,
K:MnOj - green. Why?

Options:
1 % It 1s because cations are coloured 1ons.

= " It 1s because anions are coloured 1ons.
o ® It 1s because both cations and anions are coloured 1ons.

4 # It 1s because compounds of s-block elements are not coloured.

Question Number : 82 Question Id : 12710 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

$6 G GIdHT & FGuT Wi gid §: NazCrOs - drem, KMnOs - 7relrlT,
KaMnQa - gXT1 1T &7 giar 87

Options:

| % FIF G e 3ET 1T §

o TS OIS Wi 387 §1d &

5 w FAIH Sl Uedel 3R OIS Wi 31 g §
4 % FiE s-sclleh dedl & A e AGT g1

Question Number : 83 Question Id : 12711 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following 15 not treated as primary standard i the volumetric analysis?

Options:
1 % sodium carbonate

- % potassium dichromate
= « sodium thiosulphate

4 ® sodium chlonde

Question Number : 83 Question Id : 12711 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T # O &9 3maddr Aecwor 7 urafd@s Ade & &7 & IT=d J67 har Adr 87

Options:

| % TIEIH FEEe

5 % UICTIH SSHAT
5 « TIEIH [EEEehe

4 % GISTH FENSS

Question Number : 84 Question Id : 12712 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

When Ca3(POy), 1s treated with H,50,. superphosphate of lime 1s obtained. The composition of the
fertilizer 15

Options:

1 % Cﬂ;[:PD_ﬁlz = CHED_1

o i’ Ca[H:PO_L}:



5 « Ca(H,P0y),. Hy0 +2 CaS0,.2H,0
4 % Ca(H,POy), +CaSOy

Question Number : 84 Question Id : 12712 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

ST Cag(POy)y # HaSO, ¥ 3q=mRa fohar Sirarm &, o Io o gRwIethe 9red gidr &1
Hicoga &l =T &-

Options:
; % Cas3(POy)s + CaSOy

> % Ca(HaPOy)s
2 « Ca (HoPOy)y. HyO + 2 CaS0,.2H,0
. % Ca(HPOy), + CaSO,

Question Number : 85 Question Id : 12713 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

i = SR 2 rs
In aqueous solution. magnesium forms Mgz~ 1ons and not Mg~ 1ons because
Options:

1 ® ng_ salts are soluble in water while those of Mg~ are insoluble.
o o hydration energy of ng_ 1ons 1s larger than that of Mg™ ions.
= # there occurs arelease i energy in gomg from in Mg™ to Mgl_.

4 % lattice energy of }vlgl_ 1ons 15 lower than that of Mg~ 1ons.

Question Number : 85 Question Id : 12713 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

et Frerar &, &ffaraw Mo’ s armar R qar Mo e EY T & i

Options:

1 % Mg® ™ oremy urt & eperefier 8, et Mg+ e ot # ergervefier 2
2 v Mg et it gree st Mgt st i qerr & arftrm B

3 % Mg i?nger # I § 391 §F gidr gl

1 % Mg® ™" st it A 3t Mg St Y g & 7 g B

Question Number : 86 Question Id : 12714 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Which of the following statements 15 not correct?

Options:

1. %

LiAlH, and L1GaH,; are reducing agents in morganic chemustry
o W

BF; 1s a useful catalyst in Friedel-Crafts reactions



z %
LiAlH, 1s used as a reducing agent in organic chemistry for selectively reducing the functional

groups

4

the fluorides of Al and Ga are covalent in character

Question Number : 86 Question Id : 12714 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Tafefag sual § 9 &I O FG6r 767 67
Options:
1 #

LiAIHy @2 LiGaH, seafee o faae J soares & sfaar Femd g

o ®

BF; WsSol-Ites 3TEfRarst & v Uil 3RS &

T W

LiAIH4 &t Tfeiar sriicAs THET # & &6l & [T dldisdd (0 H T HI=G0d &
& #H 9eT fhar aar g

4

Al @aT Ga & WeIRISS U # Hgadles ¢

Question Number : 87 Question Id : 12715 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following does not represent an alum?

Options:
, % KAI(SO4),.12H,0

o % NHAI(SO,),.12H,0
=3 ® I\H4CT(SD4}112HJD
g o All(gﬂ-lh IEHJD

Question Number : 87 Question Id : 12715 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fAFTeiEad & & ol 91 v fhefrdl & ueisid d6r &ear 87

Options:
| % KAI(SOy);.12H20

5 % NHAIS04)5.12H,0
2 % NHACr(S04)7.12H;0
4 v Alx(SOy)3 .18H,0

Question Number : 88 Question Id : 12716 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following statements regarding Boron 15 not correct?

Options:
1 # Boron compounds act as Lewis acids

> «" Boron 1s a good conductor of electricity

= # Colemanite 15 one of the chief minerals of Boron



4 % DBoron exists m two isotopic forms 10B and 11B

Question Number : 88 Question Id : 12716 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

IR & Hau # HeAToiEd ®ual § 9 Fid A9 97 T80 67

Options:

| w SR AR F5E RS & §T A HE A §

o ORI faega &1 gerers §
S_QWﬂﬁm%ﬂmaﬁa’fﬁﬁw%
4 % SR g §AFUe ®41 10B 3R 11B & &9 & 9m=m 1T &

Question Number : 89 Question Id : 12717 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The composition of bervl 1s

Options:
1 i’ BE‘3 CI-ISiEDIS

o ﬁ? BE‘;F’LI:SiEDIS
=3 = KAI&IaDlI{DH}J
4 % KAISi;0q

Question Number : 89 Question Id : 12717 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

IR & =T §

Options:

1. % BESCF2816018

Question Number : 90 Question Id : 12718 Question Type: MCQ

Correct : 1.0 Wrong: 0.25
Inn the gaseous phase. aluminium chloride at low temperatures (420 - 480 K) exists as

Options:

1. %

Trigonal planar AlCI;

o ®

dimer Al2Cls. 1.2
Cl\ /Cl

Cl=—Al===A] —CI
Cl \{'I



3 v
dimer Al2Cl3. 12

CI\ Cl
{'l/ \c& 7 Na

4 %
AP (3CD)

Question Number : 90 Question Id : 12718 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

I =T A, vegfATEIH FERSs Wea arg (420-480 K) @
g ST &

Options:
1. %

BT @Ade ACH,

o ®

fgmT AlLCl3, 319
Cl Cl
CI\—\AI----AlifCI

Cl ‘\'CI

3 v

femx AlLCl;, 39

T
c]/\c"/ .\"CI
4 #®

ARt (3Ch)

Question Number : 91 Question Id : 12719 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following statements regarding silicones 1s not correct?

Options:
1 % stlicones have good thermal stability
o % liqud silicones are lubricants

= % silicones are chemically inert substances

4 + silicone rubber 1s not attacked by ordmary chemical reagents except ozone

Question Number : 91 Question Id : 12719 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

e & Fag 7 Aeafoiad &9d # F Fid G Fol 70! 67
Options:

1 &

fafeeria &1 ard fferar w=dr gar &

> R

ool fafes s gd &



3 %
fafeeg Taafas ¥9 O @fte o §
4
ST &

Question Number : 92 Question Id : 12720 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Which of the following statements regarding phosphorus is not true?

Options:

1 % Phosphorus belongs to the group 15 of the periodic table

the element phosphorus 1s obtained by heating the rock phosphate with coke and sand in an electric

= # furnace at about 1700 - 1800 K
z % the formula of phosphorus 15 P

4 +" black phosphorus is the least stable form of the allotropes of phosphorus

Question Number : 92 Question Id : 12720 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TR & ey H e suat 7 @ a9 ar a0 7187 §72

Options:
1. %

HERRE Had FRON & FHF 15 F 3ae1d Har §

2 ®

dcd BIEHRY Hid 3 3T & AT Id BIEhe & @@ 1700-1800 K 9T U Soifdesh
3T H I i UItd fohar Sar £

3. %
HEERE & §F Py &
4. v

AT HIEHRE BERRYT & JIFAT &7 a9 HH 21 9 §

Question Number : 93 Question Id : 12721 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following statements regarding basicity of Lanthanide 3 + ions is correct?

Options:
1 % basicity decreases with increase m ionuc radius
o o basicity decreases with decrease in ionic radius

= % more basic oxo-salt decomposes more readily than the less basic oxo-salt

4 % basic 1on hydrolyzes more readily

Question Number : 93 Question Id : 12721 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

e ddEs 3 + AT &7 &TR&al & o # Hrafaf@d st # O oid a1 981 872

Options:
1. %

ARebal HTod Biear # gig & T & g §



2

BTl HHTad T & 6T & oy &7 ol &

3

31 giFaSr JEA-olaeT &8 giamer Ja-o@or & Jefel A i e O
foafea gar &

T

Wmmmﬁwm%

Question Number : 94 Question Id : 12722 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following methods cannot be used to prepare anhydrous zinc chloride?

Options:
1 +" heating the crystals of ZnCl,.2 H,0O

- % passing dry chlorine over heated zinc
= % passmg dry HCl over heated zinc

4 % distilling metallic zinc with Mercury(Il) chloride

Question Number : 94 Question Id : 12722 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

oF TfaT 7 O FlF o Tee oF FaRss aae & T A6 67 T 57 GEdr?
Options:

{ « ZnCly.2 HyO & Theeell &l a1 &t

o w T TS & IR F geF Fld AT

5 % T8 HF & IR F s HCl IR

4 % difcas foid &1 T (1) FoiRtss & aryr fBfeefo e

Question Number : 95 Question Id : 12723 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The mcreasing order of acidic oxides of Cr follows the trends

Options:
1 " €10 =CryO; = Cr0;

o CrO = C1ﬂ3 = CI:Ui
5z % Cr0; =Cr0 = Cr0;
4 % Cr0;=Cr03=C10

Question Number : 95 Question Id : 12723 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Cr & el 3MFAISST & dadl FFl fAFaaad ST T FTELOT Hdl &

Options:
1 o Cro < Crp03 < CrO3

s # Cro = CrO3 < CrpO3
z # CrO3z < CrO < Cry05
4 % CrOz < CrpO3 < CroO



Question Number : 96 Question Id : 12724 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following statements 15 not correct?

Options:

1. ®

primary valency of the central metal of a complex 1s always satisfied by anions

2 ®

secondary valency of the central metal of a complex may be satisfied by either negative ions or
neutral molecules

z ®
species attached by primary valencies i a complex compound can be precipitated out

4 &

species attached through secondary valencies in a complex are Lewis acids

Question Number : 96 Question Id : 12724 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

farafofaa Fual # § =ia 91 9gr 787 87
Options:
1. %

v THHOT dT FEr g i ArfAE HASERaT §HAT ORI GaRT §dSE BT ¢
?mw#mtﬁﬁﬁmmﬁmﬁmmmm
T3 SaRT Gaee AT ST Hehar ¥
?;:fﬁﬁﬂaﬁﬁaﬁmﬂﬁmmammﬁaﬁmmﬁﬁmm%
i;fﬁamﬁqﬁ?ﬂammsﬁaqmmﬁaﬁrm@éﬂuﬁg%

Question Number : 97 Question Id : 12725 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The IUPAC name of [Pt{NH;),(NO,)CI]SOy 15

Options:
1 % tetramnunechloronitroplatinum (II) sulphate

o o tetramminechloronitroplatinum (IV) sulphate
= % chlorotetramminenitroplatinum (IV) sulphate

4 % chloronitrotetrammineplatinum (IV) sulphate

Question Number : 97 Question Id : 12725 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

[Pt(NH3)4(NO5)CIISO, &7 IUPAC &TH # -
Options:

| % CCTATSA-FARI-ATse-Celfead (Il) Fothe
5 o CCHATSA-FAR-ASL-Cican (IV) ohe
5 ®% FORI-CCHTSA-ASE-teAd (V) Hothe
4 % FAR-AFCI-CoTAR-elfcad (IV) Hethe



Question Number : 98 Question Id : 12726 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Among the following. the compound that 15 both paramagnetic and coloured 1s

Options:
1 F=4 KJCI-ZGT

> % (NHy)(TiClg)
3 VOSSO,
4 b K;[CU{CF}E]

Question Number : 98 Question Id : 12726 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Frafataa &, FiF a1 Afe sehahy (ReaRs) vd @ o &
Options:

. % KoCry07

5 % (NHy)o(TiClg)

-« VOSO,

4 % K3[CU(CN)g]

Question Number : 99 Question Id : 12727 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The complex [Cr(en),C1;]Cl has

Options:
1 % only geometrical 1somers

- % two geometrical 1somers: both are optically active
= o two geometrical 1somers with one of them optically active

4 % two geometrical 1somers with none optically active

Question Number : 99 Question Id : 12727 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

3T [Cr(en),Clo]Cl # emfarer &

Options:

| % ohael SAMAIT HTSHHAT

o w% C SUHEAY ISHEAR; e Hifcere &9 & dfea &

5 G SATHAC HSHAL 3606 & UF 3ifchd &9 § dhd &

4 % G SOACE HSEEAL Sl & 8 $i5 87 Hitehd §9 I AhT 76T ¢

Question Number : 100 Question 1d : 12728 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Haemoglobimn is

Options:

1+ Iron(Il) complex

> #% Cobalt(Ill) complex



= % magnesmm(Il) complex

4 % chromum(III) complex

Question Number : 100 Question Id : 12728 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

SR §-

Options:

| 3R (1) AT

> % aree () fAsmT

= % HIEATHA (Il) TFamor

4 % rETA () TFEso7

Question Number : 101 Question Id : 12729 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The colour of tetraaminecopper (II) sulphate 1s

Options:
1+ blus

o W red
= #® violet

4 # green

Question Number : 101 Question Id : 12729 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

EEASARIR (Il) Tethe & W1 el

Options:
1. ¢ &l
o % ellel

= ®% AT
4 % B

Question Number : 102 Question Id : 12730 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following statements regarding the molecule CH,=C=CH, 1s not correct?

Options:

1 «# both the two n-bonds are present in the same plane

- % The central carbon atom 1s sp hybridized wiule the termmal atoms are spl hybridized

= % the molecule 1s linear

4 % the molecule contains ¢ o bonds and 2 n bonds

Question Number : 102 Question Id : 12730 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

sirer f&3r a7 gel # & Slerer d2F 39 CHy=C=CH, & HaeI # WEl o6l o7
Options:

1. ¢

gl & w - 9159 U B toid H 8 b



o ®
heald Hldel TAY] sp BISigasSes 8ld b, Sidfdr effstel OTATT sp? grefass=s B
el

3 ®

319 3@ (linear) 81 &

E

T A 6 o dlesw 3R 2 n dlesd g o

Question Number : 103 Question Id : 12731 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The IUPAC name of the compound CH>,=CH-CH(CH3), 1s

Options:
1 # l.1-dimethvl-2-propene

o % 2-vinylpropane
= " 3-methylbutyl-1-ene

4 % l-isopropylethene

Question Number : 103 Question I1d : 12731 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

I CHy=CH-CH(CHa3)s &T IUPAC aTH |
Options:

| % 1,1-sEfAuEe-2-9rde

5 % 2-Tastrserande

3 & 3-THuseegesa-1-5uas (3-methylbutyl-1-ene)
4 % 1-3sEHEsesHiT (isopropylethene)

Question Number : 104 Question Id : 12732 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following statements 15 not correct?

Options:
1 % aracenuc mixture contams equal masses of the two enantiomers

o aracemic mixture contams equal masses of the two diastersoisomers

= % of ethane, ethene and ethyne. the ethynic hydrogens are most acidic

4 % Propandiene has both sp and sp1 hybrid carbon atoms

Question Number : 104 Question Id : 12732 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

frrfof@a & & ol O gz Ty 767 &7
Options:

| % (Offe F01 7 e gegd a1 TATAAed (enantiomers) &l
o o IETAE TA0T F S0 o0dE g gl SeedRarASHEY (diastereoisomers) BT &
= % 399, 3 IR susa, vhfAw FEsee 999 e 3 B B



4 x eSS A sp 3R sp? AT grSeds &ee 31T B B

Question Number : 105 Question 1d : 12733 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Fesonating structure of a molecule should not have

Options:
1 % 1dentical arrangement of atoms

o W nearly the same energy content
= % the same number of paired electrons

4 + identical bonding

Question Number : 105 Question Id : 12733 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

3197 &I 3edaes (Resonating) =T # A6l el BT
Options:

| % 31 A U S cmawar

5 % T T SEr IS TFEET (energy content)

Question Number : 106 Question Id : 12734 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following statements is correct?

Options:
1 % 1n Sy mechanism. the rate determining step involves more than two species

> % the Sy mechanism volves the formation of intermediate carbocation
5 o the Sy mechanism 1s accompanied with Walden mversion

4 % the Sy mechanism involved mtramolecular rearrangement

Question Number : 106 Question I1d : 12734 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

frafafaa d 9 a9 o a2 g &7

Options:

| % Sy @F #A, ToH AuiRa & T X # a § SAMeT YSAaAn (species) enfHEe &l
> % Spg dF #A, ACHGd HEhele & TS AHAA g

5 Spo dF dlosd cchH & T T (accompanied with) ]

4 % Sng TF #, A HUTdF rcdacar i g

Question Number : 107 Question Id : 12735 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The most strained cycloalkane 1s

Options:

{ « cyvclopropane



- % cvclobutane
= # cvclopentane

4 # cvclohexane

Question Number : 107 Question Id : 12735 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

gad e fadd asadiedd &l

Options:

| s
E_RW
= % Hsdddecs
4 % TTEFAGHe

Question Number : 108 Question I1d : 12736 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following statements is not true?

Options:
1 % Inethane. staggered conformation is more stable than eclipsed conformation

- % cvclohexane exists i two conformations
= o the boat conformation of cyclohexane 1s more stable than chair conformation

4 % the boat and chair conformations of cyvclohexane do not exist as mdependent compounds

Question Number : 108 Question Id : 12736 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

rafafaad & O oia a1 axg T 787 £7

Options:
1. %

S¥sT H HiUd THJEUUT (staggered conformation), Teaedsl THIEICT (eclipsed

conformation) & =mer f&ux giar &
o ®

HISFAIEHIT o HAGEIUT (conformation) #F #Hislg &1 &

3

Arsaeiigais] & Hadl 2N THFGEIOT (boat conformation), R EHETOT (chair
conformations) #T derer # FATEr 2R §Iar &

4 ®

TSFelgas] & AR WHTEIUT (boat conformation) 3 e §He®ToT (chair
conformations) ¥aded dlfdew & &9 A Al 6T &ld]

Question Number : 109 Question Id : 12737 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which of the following reactions will not lead to the formation of an alkene?
Options:
1 % dehydration of alcohols with phosphoric acid at 473K



- #% dehvdrohalogenation of alcohols 1 basic medum
= % electrolysis of salts of dicarboxvlic acids such as potassium succinate

4 + heating alcohols with red phosphorus in presence of haloacids

Question Number : 109 Question Id : 12737 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

orfeiEd & & Fia O 9fafeansd # § &R &6l doar?

Options:

| % 473K oY SERINE TS & A1 Heaped & (deleldlol|
> % BT ATEOH H 3ohiged & swigsiedi-inga (dehydrohalogenation)|
2 ® SIEahTaleiiToleh 3Fel & ofauil & faedd uaes oI drefeas wiic|

4 o bl $T 3uTeafd 7 e BIEARE & | Fehloed Hl IRA He|

Question Number : 110 Question Id : 12738 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Mesitylene 1s produced by

Options:
1 % passing acetylene through red hot wron tube

o o passing propyne through red hot iron tube
= % passing acetylene mnto cuprous chloride solution containing ammonium chloride

4 % treating acetylene in THF with Ni(CN), under high pressure

Question Number : 110 Question Id : 12738 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

AR deTd &l

Options:

Lgf_’lﬁfﬁfﬂlﬂ TRA el # T THICTeN # AR 8

o o G T AT IRA el H F 99T FF AR F

5 % FHAIGTH FARIGS a0 FIIH FANGS & ol #§ ¥ THIfCHT B TR F
, % 3= ga@ & Ni(CN), aer THF & el & & &=t

Question Number : 111 Question Id : 12739 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
In aniline. the -NH, group

Options:
{ % activates the benzene ring via both inductive and resonance effects

o o activates the benzene ring via resonance effect and deactivates via mductive effect
= % activates the benzene ring via inductive effect and deactivates via resonance effect

4 % deactivates the benzene ring via both inductive and resonance effects

Question Number : 111 Question Id : 12739 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Tsitese, -NHy T :



Options:
1. %

FEATCAS 3R 3G Uad & FARY doid [Red @ Gfehd & o

2.V

HeAAle, Wd & SR deiter Rar 1 Aiha axar & 3R 3eAaAcAE 9o & SRS
ST wear 3

3 %

STAACHTS WAd & AN Aol 137 H Ghhd &l ¢ 3R 3G 77a & IR
oS &ear

4 ®

maﬂ?a@maﬁ?ﬁmﬂ?aﬁﬁmﬁﬁﬁaﬁﬁf@mmﬁl

Question Number : 112 Question Id : 12740 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
The range of number of carbon atoms 1n the diesel o1l 1s

Options:
1 by Cl 0 Cj

o W CTTDCIJ
= e Clltcclf
4 « Ci5t0Cyg

Question Number : 112 Question Id : 12740 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

STSTel HISol H @lalel 0] & AR e BT o

Options:

o ® C}r ﬁ C12
3 % Cq2 W Cys

4 « Ci5 & Cqg

Question Number : 113 Question Id : 12741 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Impure glycerine 1s purified by

Options:
1 % vacuum distillation

> % sumple distillation
= ¥ steam distillation

4 % boiling over charcoal

Question Number : 113 Question 1d : 12741 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

3G TS hl & E@aRT UG foar ST &

Options:

1. v et smae (Segw fefeeeter)



2. % FTLTT 3MHe (Fuer fefeeete )
3. % GO 3MHa (T4 Bieeaters)
4. % FIger T IO FeATelA

Question Number : 114 Question Id : 12742 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Molecular mass of a volatile substance may be obtained by

Options:
1 # Leibig’s method

> % Kjeldahl's method

= # Duma s method

4 « Victor Meyer's method

Question Number : 114 Question Id : 12742 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

arsaefie geret & OTEE geaHT SaRT e faRar ST §

Options:

| = @farg ggfd (Leibig's method)
> % Sesidl g&id (Kjeldahl's method)
5 % 3% 9&fd (Duma’s method)

4 v Taoet AT 9giad (Victor Meyer's method)

Question Number : 115 Question Id : 12743 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following compounds does not show Lassaigne’s test?

Options:
1. ® urea

o #  azobenzene

= o hydrazine

4 % phenylhydrazine

Question Number : 115 Question Id : 12743 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

frafafaa & ¥ =ia o1 aifas sa@e &1 9feTor (Lassaigne’s test) #1gT ceidar?

Options:

| % IRAT (urea)

> % Udlldesild (azobenzene)

5 o Blgglaga (hydrazine)

4 % fhelser ISsaEd (phenylhydrazine)

Question Number : 116 Question Id : 12744 Question Type: MCQ
Correct: 1.0 Wrong: 0.25



Fractional distillation does not give complete separation of pure components in which of
the cases stated below?

Options:

1 # separation of liquefied air mto liquid oxvegen. liquid nitrogen and argon.

o % various fractions of liquefied petroleum

= % ethanol in ethanol-water mixture

4 % cvclohexane and toluene

Question Number : 116 Question Id : 12744 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

ATl 9AR A0 R AT A HIfAS HHAd UE HeHl FT HYOT TUFHIOT A6T HAAT?
Options:

| % Telhd Fdl § TRl JlEdeld, ool Ascielel 3R e
o % cXeliehd Ueiferad & faffieer sver

2 « SUAl-ardT AT # s

4w TsFelvEIa HR e

Question Number : 117 Question I1d : 12745 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Liquids that decompose below their normal boiling point can be distilled at lower temperature by

Options:
1« decreasing the pressure

- % heating in sand bath
= % increasing the pressure

4 % heating in water bath

Question Number : 117 Question Id : 12745 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

U Ol S 39 OHT F9ue (boiling point) W 39gfed 8d &, 376 &H dI9A
W ARHAA fRar o Hehell &

Options:
R adld ohH chid & GIEIEY

o, % US T H IRA & F @RI
- % GdId deld & @l
4 % G 9T H IRA F & @RI

Question Number : 118 Question I1d : 12746 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A mixture of benzoic acid and naphthalene can be separated by
Options:

1 % azeotropic distillation

o ® fractional distillation



= o simple distillation

4 ® steam distillation

Question Number : 118 Question I1d : 12746 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

deASe 3ET HIT Soeiie & HAOT &
Options:
| » TEeREarer 3rae (azeotropic distillation)

> #% WSl e (fractional distillation)
5 « WERUT 3dd (simple distillation)
4 % dI°0 HHds (steam distillation)

Question Number : 119 Question Id : 12747 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

& caRT erer AT S "ehar

In Kjeldahl s method of esttmation of nitrogen. copper sulphate acts as a

Options:
1 % catalytic agent

o W control reagent
= % hydrolyzing agent

4 « oxidizing agent

Question Number : 119 Question Id : 12747 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

3MMahered T Stesie @ 9aid (Kjeldahl's method) # aiselaar 3T 9T Tethe

& FT H FE A g

Options:

1 % 3N TC

> % o= vale

3 % BISSICNSIeledl Talc
4« HIFETHIOT Taie

Question Number : 120 Question I1d : 12748 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Chlorme water and CCly when added to the sodium fusion extract and shaken. a violet colour is

observed in the lower organic laver. This 15 indicative of presence of

Options:
1 # unsaturated halide

o # bromine and iodine
= % chlorine

4 " 1odme

Question Number : 120 Question Id : 12748 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



S 9r=T 3R CCly & \iffad gaor 9R (sodium fusion extract) & fAemer Bomar m@r

g, @ =er Fefas aas & dae @ @S &ar ] 9% $r Al
gelTar

Options:
| ® 3G BelSs

o % STHSH 3R A
S_RW
4 « HEEA

Question Number : 121 Question 1d : 12749 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Tollen's reagent can make distinction between

Options:
1 # glucose and fructose

> % formaldehyde and formic acid
= % glucose and benzaldehvde

4 + acetaldehyde and acetone

Question Number : 121 Question Id : 12749 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Zled &7 31T@sas (Tollen's reagent) & o9 ®h IaT FL ThdT ¢l
Options:
| % TOLHIS 3R el

5 % WIHeSESS AR WITAS 3w
5 x TOEIS 3R JeeresEiss
4 « UHCesEEs AR TEeA

Question Number : 122 Question Id : 12750 Question Type: MCQ

Correct: 1.0 Wrong: 0.25

An unknown compound has given positive sodium bicarbonate test but negative Brady s test and
[odoform test. Thus. we may conclude

Options:
1 % 1ts a carbonyl compound

> « molecular mass of this compound may be determined by silver salt method
= % 1t 1s a methyl ketone

4 % addition of CAN will give red coloured complex

Question Number : 122 Question Id : 12750 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

UF WA AfAE Jeor F SIETE aeeEiae WEeT § 9ERcAS aienH T afea
g 3R FEEEE giEeT § deRcHs 9RonH 83| 56 9 § 54 Ay e
Tad ¢

Options:



| #% T IERA (FEiwe) diFEE §
o 59 TITE &7 ZeaAe MeaR dlec 9hid ganT aiRa & S §ahar &

=z w U6 s m%i
4 % CAN TAE W g & T & AT (Flecoad) &aT ol

Question Number : 123 Question I1d : 12751 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which has maximum boiling point?

Options:
1 % CH;OH

= % CH;CH,Cl
g = CHaCHIEI

Question Number : 123 Question Id : 12751 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TG FIET Fauas (boiling point) e £7

Options:
1 # CH30H

5 « CH3CHal
- % CH3CH,CI
4 B CHBCHEBI’

Question Number : 124 Question I1d : 12752 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
[-elimination 15 not possible n

Options:
1 CHCl;

o i’ I:CH3:I3CBI
=4 W I:CHa;IJCH:BI
4 % (CH3),CHCH,Br

Question Number : 124 Question Id : 12752 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

# B- favEd (B-elimination) Hs7@ FET &
Options:
| « CHCl3

> ® {CH3}3CBF
= # (CH3)oCHBr
4 % (CH3)oCHCH,Br

Question Number : 125 Question I1d : 12753 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Which 1s not a correct statement?
Options:
1 % Chloretone 15 an msecticide

> % COCI 1s called phosgene
= % Chloropicrin 1s used as an nsecticide

4 % CCly1s used as fire extinguisher under the name pyrene

Question Number : 125 Question 1d : 12753 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FieT AT dwT TE AL §?
Options:

| FORCI Teh HICARIE ]

> % COCl, @I fadeir 3% (phosgene) &&d &

o % FOARMISIET & 3UAET HieaAred & §9 # har 1 g

4 % CCly &1 39001 uislia a7 & ded Racmas & & 7 fhar S g

Question Number : 126 Question Id : 12754 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
When CH; CH,Br reacts with sodmum acetylide. the main product 1s

Options:
1 # 2 butene

- % 2-butyne
= # 1-butene
4 +« l-butyne

Question Number : 126 Question Id : 12754 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

a4 CH3CH,Br |ifsaer veiidianss & @1y ufdsar axar ¢, al J&7 3c0iG

TATAT B
Options:

1. % 2-¥gee

5 % 259005
3 ® 1~ =gea
4,@’?1'3‘?@3?{

Question Number : 127 Question Id : 12755 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Increasing order of dipole moments of (I) ethanol. (II) methoxyvmethane and (III) propane 1s

Options:
1. ® I=II<III

o % II<I<II
3« =<1
4 % TI=II=I



Question Number : 127 Question Id : 12755 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

() sa=rer, (1) FarEEET AR () 999 & gfaed &o7 & (dipole moments) dedT
B3 FH ©

Options:

1. % l<ll=Il
o & lll<l<Il
=z« lli<ll<l
4. % ll<ll=l

Question Number : 128 Question I1d : 12756 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The alcohol manufactured from water gas is

Options:
1 % butanol

> % ethanol
=« methanol

4. % 1sobutanol

Question Number : 128 Question Id : 12756 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

ared-3 ¥ Icaifed AeaEd &l

Options:

, % =gcare (butanol)

5 % S¥A (ethanol)
2 « [#AS (methanol)

4 % 3SHIGCHATA (isobutanol)

Question Number : 129 Question 1d : 12757 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Select the mcormrect statement about solvomercuration-demercuration of alkenes.
Options:

1 % It mmvolves carbocation as the mtermediate

> % Itmvolves no rearrangement
= % Itinvolves addition of water according to Markownikoff s rule

4 % Regiochemistry is very wdentical as in alcohol

Question Number : 129 Question Id : 12757 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Tedhlel (alkenes) & HieaAFIYA-BHRFNAT & aX & eld d2T & T4 S|
Options:

|« SEH ATIH (intermediate) & FT #F FIEih AT ©
o w FUH GACHTTAIYS M A6l &



5 » HRiafARFE f@aa (Markownikoff's rule) & 38R $HS =il TAerar anfaer &
, w TSNS (Regiochemistry) sga &1 €T & ST foF seahiee & g1ar &

Question Number : 130 Question Id : 12758 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Ether 1s a good solvent for Grignard reagent as

Options:
1 ## itacts as base towards acidic magnesium

- % 1t makes H-bonding with Grignard reagent
= % 1tacts as an acid towards basic magnesium

4. ¥ 1t 15 electron-rich

Question Number : 130 Question Id : 12758 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

firaas 31fAsas (Grignard reagent) & o7 S agd 37T aah & i

Options:

|« B 3 HeolfigH # &R & ®9 # & ] o

> % Ig fIFars wfEEa® (Grignard reagent) & &1 TH-AllesdT g1l o]
- % UG &G HIATEGH & Uid 3% & ¥ & 1 T g

4 % U Selgcid-NT & (electron-rich)|

Question Number : 131 Question Id : 12759 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

CIEDTI"H_ 15 an oxidizing agent for alcohol. Completion of the reaction 1s indicated by

Options:
1 « green colour

= # Dblue colour

= % orange colour

4 % vellow colour

Question Number : 131 Question Id : 12759 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Cry072/H 3icehigel & T veh 3iTaiieor Teie §] wigsar &1 gofar ganT
e Bidl bl

Options:

| BT

o % sitel T
T W ARAT 13T
4_%tﬁﬁw

Question Number : 132 Question Id : 12760 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Catalvst used 11 oxo-process 1s



Options:
1 % Fe(CO)s

o W Co(CO)5
3 % CrH(CO),
4 [CoH(CO)4]

Question Number : 132 Question Id : 12760 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

HTFaT-AiehaT (oxo-process) H WA Flodrell 3o &l

Options:
1 ® Fe(CO)s

o B CG{CD}E
. % CrH(CO),
4 « [COH(CO)4]

Question Number : 133 Question Id : 12761 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The incorrect statement from those given below would be

Options:
1 % carbonyl compounds are attacked by nucleophiles

- % an aldehyde has a greater partial positive charge on 1ts carbonyl carbon

protonation of a carbonyl compound decreases electrophilic nature and thus. nucleophilic attack 1s
=« retarted

4 % hydration of CCl;CHO 1s more than CH;CHO

Question Number : 133 Question I1d : 12761 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

wrer 23 7T gt A § Aeg 92 FiF & 8?

Options:

| w rdiiaer i W cgFelthed gaRT gHem faHar Sdr &l
5 % Td 3TeSEISs H 9 dlaiidd Hlad U =dIg1 § el HIfeEd HeNIcHE I &l o

Frafferer AMEH T ACTT2rT SHE Solaeithicld 0T I HA HL odl § 3N 30 TR
5 o TAfFCIthieleh 3TehaAoT €T g S

% CCl3CHO @&T Sordistel (§153%eT) &l defer # CH3CHO Sarer &

4.

Question Number : 134 Question Id : 12762 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Ester formation is called

Options:
1 # C(Claisen condensation

o % aldol condensation
=« Fischer esterification

4. % trans-esterification



Question Number : 134 Question Id : 12762 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

ST BRAT HI Fed B
Options:

| % it "ale{or (Claisen condensation)
> % Tesiol Hairehtor (aldol condensation)
= « e wrelistor (Fischer esterification)
4 % CleE-TEC{IhUT (trans-esterification)

Question Number : 135 Question Id : 12763 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The compound used as a preservative in food items 1s

Options:
1 % sodium benzoate

o # formic acid

= % sodim salicylate

4 #® sodium acetate

Question Number : 135 Question Id : 12763 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

@cy qor H UeRaca & §9 # wAET har Aearen diEE

Options:
| « TIfETH d==ve (sodium benzoate)

5 % WITHe TS (formic acid)
= #% HIfsgA AfEde (sodium salicylate)
4 % GISIA Tidee (sodium acetate)

Question Number : 136 Question Id : 12764 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The most reactive amine towards dilute HC1 15

Options:

i W CHa}J‘II

> = fCHa;IJ-NI'I
5 o (CH3);N
4 % CgHsNH;

Question Number : 136 Question I1d : 12764 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

de HCl & afar Tawt foramefier v#le (amine) § :

Options:
. % CH3NH,

5> ® (CH3)oNH
2 « (CH3)3N



4 % CgHsMNH;

Question Number : 137 Question 1d : 12765 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Pyridme 15 less basic than tniethyvlamine because

Options:
1 # pyridine has aromatic character

o o nitrogen m pyridine 1s sp~-hybridized
= % pyndine is a cyclic system

4 % Inpyndine lone pair of nitrogen 1s delocalized

Question Number : 137 Question Id : 12765 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

eesafiorATSa &1 3UeT gsiisie (pyridine) &8 &R & 41T

Options:
| w TSUSIE & IOT GUEER b

o  TETEE # Aselel splesiisses §
= % UISUSIe Uk =ehId UUTe G
4 % UISUSIA #H, dAScield & @l Ssr AIRETAT (delocalized)

Question Number : 138 Question I1d : 12766 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
For nitration i benzene we require

Options:
1« conc. HNOj + conc. H,S0,

5 % conc. HNO,
= % conc. HyS0, + fuming HNO;
4 % KNOy

Question Number : 138 Question Id : 12766 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

ISieT F AscATT & fov B SHd I5dr B

Options:

| » Tifed HNO3 + @ifdd. HpS0,

5 x ®ifad. HNO;3

o % Gifed. HySOy + 9311 isadrel (fuming) HNO;
. % KNO,

Question Number : 139 Question Id : 12767 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following can react with TsCl1?

Options:

1« Glycerol



- % n-propyvl cyanide
= % tnimethylamine

4 % methoxydimethylamme

Question Number : 139 Question Id : 12767 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

farafafEa & @ @i TsCl & 9 uidshar &ar 67

Options:

| TR (Glycerol)

> % Ued-HIUiSel AS5 (n-propyl cyanide)

- % EEAUSHAEA (fimethylamine)

4 % HUTEHEETHASASA (methoxydimethylamine)

Question Number : 140 Question Id : 12768 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Libermann’s nitroso reaction 1s for the testing of

Options:

1 " phenol

= # benrzoic acid
= # mtrobenzens

4. ¥ aniline

Question Number : 140 Question Id : 12768 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

foradte &1 aArserEr wfaswar F giraror & fov g
Options:

| « HEre (phenol)

> % delailseh 3Fe (benzoic acid)
= % oscldeia (nitrobenzene)

4 % Ufdemse (aniline)

Question Number : 141 Question 1d : 12769 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The catalyst used in Ziegler process for polvethylene manufacture

Options:
1 # consists of aluminnumn chloride and titaninm dioxide

- % 1s vanadium pentoxide
= % 1s finely divided nickel

4 + consists of triethyl aluminium and titamum tetrachloride

Question Number : 141 Question 1d : 12769 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

el el 3cdicd & o fS9et ufdar (Ziegler process) & wdEr f&F Aedrel 3R
L= 5




Options:

| w ToIHATTTH FRREs SR ReiAaH seieass A b

5 % Ualsdd USTHIFASS o

5 % ¥d # fawfaa awa g

4 v T esusd vegfafaan AR Rafaan eaediigs 14t &

Question Number : 142 Question I1d : 12770 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following types of forces are present in nvlon-667

Options:
1 % van der Waals™ forces of attraction

o o hydrogen bondmng

= # three dimensional network of bonds

4 % metallic bondmg

Question Number : 142 Question Id : 12770 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

ASea-66 7 T WhR & I iAo 67
Options:
| ®% HTHYYT & o ST ared ad (van der Waals')

5 o BISSeld difesal
5 % Slosd & el JRATAT diedh
4 #% Feifcie difesaT

Question Number : 143 Question Id : 12771 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The monomers used to prepare polyvinvlpolvthene 1s

Options:
1 % vinyl chloride and ethane

o # ethane
= % 1soprene

4 + 1.3 butadiene and acrylonitrile

Question Number : 143 Question Id : 12771 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Jieiaarseaeieia daR & & & 96T F @@ SAeareT Thdd (AEHE)
&l

Options:

| % T=mse FeREs AR 9

o % ¥

5 % JTSHYY
4_\%;1,3?&‘@613?*@?7?11@3?



Question Number : 144 Question Id : 12772 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Terylene 1s a condensation polymer of ethylene glycol and

Options:
1 # benzoic acid

> % phthalic acid
= # salicylic acid

4 + terephthalic acid

Question Number : 144 Question Id : 12772 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

i, el Tomgenier 3l T FATHIOT (condensation) TielAT £

Options:

| % dedsa TS (benzoic acid)

> % Afcle TS (phthalic acid)

= % Hferdifeles TiEs (salicylic acid)

4 « SUeAfas wfEs (terephthalic acid)

Question Number : 145 Question 1d : 12773 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Nobel prize in Green Chemistry 1s not associated with

Options:
1 % R Williamson

o % Yves Chauvin
2 #® Robert H. Grubbs
4 ® Rachard F. Schrock

Question Number : 145 Question Id : 12773 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

gRd IWI=emEA (Green Chemistry) # dldel JIFRR

Options:

1 % ¥R, TeTaEaa
> o UH A3Ad
= ¥ {ade T, Ted

4_%%&3‘“13]:?3?

Question Number : 146 Question Id : 12774 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which reaction 1s not part of acid rain?

Options:
1 F=4 CDI T HJD 9‘ HJCD3

o i’ E:E'3 _HJD % I—IISCQ
3 ® ND’I'?DJ‘!'HID%HNGS

o wafed 6T o



4 « CIONO, +H,0 - HOCI + HNO;

Question Number : 146 Question 1d : 12774 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Traeiiad & & Sladr ufafhar e aul a361 87
Options:
1 ® COp + HO = HoCOg

o % SO3 + HyO > HyS0y
= % NOp + Oy + HyO = HNO;
4 « CIONO; + HyO 2 HOCI + HNO;

Question Number : 147 Question Id : 12775 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
NO,, in the atmosphere 15 due to

Options:
1 « lightning

> % incomplete combustion of fuel
= % thermal plant

4 % radioactive decay

Question Number : 147 Question Id : 12775 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

ararawer 3 NOX & HROT GBI B
Options:

| & A=facdd (lightning)

o % $U & 3TN G

5 % dE JI4
4 % (ETreEt e

Question Number : 148 Question Id : 12776 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Common reducing reactions of monosaccharides are due to

Options:
1 % therr cyclic structures

- % the presence of at least one hydroxyl group
= % the presence of more than one hydroxyl group

4 + the presence of carbonyl group. usually on the C-1 carbon atom

Question Number : 148 Question I1d : 12776 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

HIAHSsH @l WA ogeRe (reducing) widfeame

Options:

1 % 3oAch] Tehld HITATHI

& FROT FdT 3



o w TFIH H HH U glesliede g fr 3ufeufd
5 x U @ S EIsEieae HHg T Iureuta
4 GEET ® F C-1 FEA HU] W Fidlge W H Iuredtd

Question Number : 149 Question Id : 12777 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Which amino acid can form covalent sulphur-sulphur bonds?

Options:
1 & cysteme

- % glycme
= # prolne

4 # methionme

Question Number : 149 Question Id : 12777 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

el & 35 Hia AT 3T UfEs Heh-Toh SEadiel AEY (Fideie dlesd) JaT Hehal
87

Options:
| « T (cysteine)

5 #% Tl (glycine)
= % Wieisa (proline)
4 % TAEAESA (methionine)

Question Number : 150 Question I1d : 12778 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the below is not an advantage of solid rocket fuels?

Options:
1 # high propellant density

o ® low cost
= o lower specific impulse than liquid propellants

4 % large amount of thrust.

Question Number : 150 Question I1d : 12778 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A U a1 Surdt # @ i @1 "end (Wifes) Jhe S 76T 67

Options:

1 *® E-ré'r Eﬁ’qﬁf gﬂﬁ_{ﬁ
> % HH HIAID
5  BH T & fafrse 3aer & goer 7 @@ uoiees (liquid propellants)

4 % @ ATA H d (¥¥T)



Question Number : 151 Question Id : 12779 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Two dice are rolled simultaneously. Find the probability of getting a total of 7.

Options:
1. # 1/36

= o 1/6
3 # 3/13
4 % 1/9

Question Number : 151 Question Id : 12779 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

ol 9T U Uheh SATT &1 SAST AN 7 e T wiikear AT &

Options:
1. % 1/36

= o 1/6
3. % 313
4 % 1/9

Question Number : 152 Question Id : 12780 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

In how many ways can 8 men be arranged at a round table so that 2 particular men may be
together?

Options:
1. ¢ 1440

= % 10080
= #5040
4 # 720

Question Number : 152 Question Id : 12780 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

U A A W & afFdar & fohds il § 3ied Far o I&ar & & 2 faew
aied ThEry 1§ Hh?

Options:
1 1440

> % 10080
=z % 5040
4 % 720

Question Number : 153 Question I1d : 12781 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

How many straight lines can be formed by joining 4 different points on a plane if no three of them
are collimear?

Options:
1. % 12

R
I % 9



Question Number : 153 Question I1d : 12781 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

v FAAE W 4 e faegsl & Sisa & canr fohdst §a Y@T aars a1 S ¢,
Ife 398 § diF 3@ T 76T 87

Options:

1 % 12

o B

3 % 9

4 % 2

Question Number : 154 Question Id : 12782 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
83.33% of a number X' 15 300 then 50% of number X' 15

Options:
1. % 178

= & 180
3 % 200
4 # 182

Question Number : 154 Question 1d : 12782 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

U gEar ‘X & 83.33% & 300, ar g X & 50% fhaer B

Options:
1. % 178

= « 180
3. % 200
4 ® 182

Question Number : 155 Question Id : 12783 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

In an examination the passing marks was 60% of the total marks. If a student got 40% marks and
failed by 100 marks then the maximum marks was

Options:
1. % 100

= % 200
= # 300
4 « 500

Question Number : 155 Question Id : 12783 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

U & # Sccivlieh - Fel 37 #1 60% ATl TG v facamnll @ 40% e e 3
g5 100 3T & 3fefeciol §3m, o AfEHda 3F M.

Options:
1. % 100



> % 200
3. % 300
4.+ 200

Question Number : 156 Question Id : 12784 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Choose the correct statement

Options:
1 ® {0} 1s not a singleton set

> % IfA={5}. then SEA

3 ¢ AUB=BUA
4 % ANB#BNA

Question Number : 156 Question 1d : 12784 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

el el Toi|
Options:
, % {0} U Uhel WHETT AT &

o % T A={S}, AT SeA
= « AuB=BuA
4 % ANB#BNA

Question Number : 157 Question I1d : 12785 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Alex can do a piece of work in the same time in which Robert and Charles together can do it. If Alex
and Robert together do the same work i 25 days and Charles alone do 1t m 75 days then 1n how
many davs Robert alone can do the whole work?

Options:
1. % 50

2 ® 80
3 % 70
4 & 75

Question Number : 157 Question I1d : 12785 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TOIFg U &1 & 30« & 5T H o TFdl ¢, oide 989 # Jac AR aeg ey
fHoeT i ofe e 3 U 39 & & veary A 25 fBat # g

3hel AeY 39 I & 75 @Al H &L, al 3ihel Uae 30 9N T & fhdel faall &
T TRl &7

Options:
1. % 50

= % 80
z ® 70
4 " 15




Question Number : 158 Question Id : 12786 Question Type: MCQ

Correct: 1.0 Wrong: 0.25

60 weavers can finish a work in 20 days by working 5 hours a day. How many weavers should be
emploved to finish the same work 1n 23 davs working 6 hours a day?

Options:
1. % 30

> o 40
3. % 30
4 % 25

Question Number : 158 Question Id : 12786 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

60 FAHT o # 5 G FE F F a@T U H & 20 T F F W e 81 om A
6 T H FH I B w7 25 Gt # Ol Al & oI Thde geaet @ forifara faan
ST =Ifge?

Options:
1. % 50

> o 40
z % 30
4 % 25

Question Number : 159 Question I1d : 12787 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which option has fractions in the descending order?

Options:
1« 971179 _ 11/17 8/15

5 % 9/11.7/9. 8/15.11/17
5 % 7/9. 911, 117178115
4 % 9/11.11/17 .7/9.815

Question Number : 159 Question I1d : 12787 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fora fOoea & fied - 39U &7 H 7

Options:
1« 911 119 11117 | 815

> % 911, 7/9, 815, 1117
= * 39 91 1WA 8110
4 ® 911 117,719, 815

Question Number : 160 Question Id : 12788 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Find the number of digits to the left hand side of result when 90.75 1s multiplied by 0.0025

Options:
1. % 1

> ® 3
3 ® 2



4 « 0

Question Number : 160 Question I1d : 12788 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

90.75 &r 0.0025 & o7 fhT S W - IRONA & S0 G_{E & 3l HT T 70
Options:
1. % 1
o % 3
3 % 2
4 ¢ 0

Question Number : 161 Question Id : 12789 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Find the ratio of LCM to HCF of 063, 105 & 2.1

Options:

1. % 1:15
o ® 151
=z v 30:1
4 % 45

Question Number : 161 Question Id : 12789 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

0.63, 1.05 T 2.1 & LCM & HCF &r HAard ATd &L
Options:

1. % 1:15

= ® 15:1

=« 30:1

4 % 45

Question Number : 162 Question Id : 12790 Question Type: MCQ

Correct: 1.0 Wrong: 0.25

There are two exammations rooms A and B. If 530% students from A are zsent to B. then the number
of students in B would be twice of that in A If 24 students are sent from B to A. then the nunber of
students in A would be four times of that in B. Find the total strength of class A and B together.

Options:

1. % 120
> ® 60
=« 180
4. % 200

Question Number : 162 Question Id : 12790 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

arodgTHyg A MRB R AT AAITS0% RemdiwtB A AT ST g, ST B &
Ferente= &t §mar A g1 SITQeth Ife B & 24 Frenteda @ A § WS S g, b
Aﬁﬁaﬁaﬂ%ﬁ@ml& AR AT GHIT BET A 3N B & et fereniat it s @
ARl ST $l

Options:



1. % 120
- % 60
=z « 180
4 % 200

Question Number : 163 Question Id : 12791 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A sum of money is to be distributed among A, B, C, D in the proportion 5 :3 : 4 : 2. If B gets Rs 800
more than D, then what 15 A's share?

Options:
1. # FRs 3000

> « Rs. 4000
3 % Rs 5000
4 % Rs 6000

Question Number : 163 Question Id : 12791 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

TH A A A, B, C DES5:3:4:2% # ot T smar g1 afe B &
D &% 800 Mﬁaﬁﬁ,ﬁAﬁrﬁwﬁﬂﬂTg

Options:
1. % % 3000

= « & 4000
3. % % 5000
4 % % 6000

Question Number : 164 Question 1d : 12792 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Two friends started for a place one by motor cycle and other by a train. The speed of motor cvele 15
30 kmy/hr and that of the train 15 24 km/hr. The first one takes 6 hours 12 minutes to reach the
destination. How much time would the second one to cover the distance?

Options:
1 % §hour
o ® 725 howr

=z ® 7.50 hour

4 " 7.75 hour

Question Number : 164 Question Id : 12792 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

ar T & U & TAIT W ST §, U of AletHrsicer &1 9T R, gat o & @i
Arexarsiorer &r aifa 30 T afa ger &, aur & &1 71fd 24 s ufd =er &1 96
ff= T 3Tdeq X dgaa # 6 9¢ 12 e & HHY WAl 5| 36T g &l OF @ A
e 1A & fohdar @&a oEam?

Options:

1. % 8 "ar

o #% 7.25 geT

3z % 7.50 ger



4. 1.75 "ea

Question Number : 165 Question Id : 12793 Question Type: MCQ

Correct: 1.0 Wrong: 0.25

To fill a bucket. 120 glass of water 1s required. How many glass of water will be required to fill the
same bucket if the capacity of the glass 1s reduced to one-fourth of its present capacity?

Options:

1. % 30
> % 280
= ¥ 480
4. ® 250

Question Number : 165 Question Id : 12793 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

U died] B Jla & Tov 120 Frend et 7 HAasaear g1 afe areer & eTHar &
el 3T addd &8 § UE dtens @ Zar A, at 39 R & o fhae Mo
OTAl ol HTG2HAhdl BIai?

Options:
1 % 30

= ® 280
3.+ 480
4 #® 250

Question Number : 166 Question Id : 12794 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

In the following question. there 1s a certam relationship between two given numbers on one side of (: ;) and one
number 15 given on another side of (; ;) while another number 1s to be found from the given alternatives. having
the same relation with this number as the numbers of the given pair bear. Choose the correct alternative.

144 - 12 :: 196 -7
Options:
1. % 24

o o 14
3 % 16
4 % 13

Question Number : 166 Question Id : 12794 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FaefEg wead &, Aeg (1) & U olw & g # va 99 gFaey § 3R Ao
[ :]ﬁ@ﬁmwmﬁaﬁéﬁ,ﬁa?sﬁuchua?rﬁmﬂr%ﬁ%ﬂmﬁﬁﬁﬁ
O foelt v fased # & §, @8 fasey @ gfavl

144 12 3 196 ; 7
Options:
1. % 24

> o 14



3 % 16
4 % 13

Question Number : 167 Question I1d : 12795 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Inn the following question. there 1s a certam relationship between two given words on one side of (: 2)
and one word 15 given on another side of (- ;) while another word 15 to be found from the given

alternatives, having the same relation with this word as the word of the given pair bear. Choose the
correct alternative.

Doty : Tamilnadu ;- Dalhousie:7
Options:
1 % West Bengal
= " Himachal Pradesh
= # Uttarakhand

4 % Jammu and Kashmir

Question Number : 167 Question I1d : 12795 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

rATTad 9ed #, &5 (1 @) & UH alh o gl A TS 099 §Faed ¢ 3R & ()
T g@l AR TH e & §F 8, O S UK H T A U aw fawedt A €
foredt T fadeT & & §, Tor AweT @ vl

3¢ @ affAees @ Semlel @ ?
Options:
1. % OiesA e
o5 « TeATEd Yo
5 #® IrI@s
4 % FEA 3R weER

Question Number : 168 Question Id : 12796 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Inn the following question. there 15 a certam relationship between two given words on one side of (: )
and one word 1s given on another side of (: ;) while another word 1s to be found from the given

alternatives, having the same relation with this word as the word of the given pair bear. Choose the
correct alternative.

Bull : Spain :: Bear : 7
Options:
1+ Russia

- % Fomama

= % Germany

4. % Vietnam



Question Number : 168 Question Id : 12796 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

ST Tead &, Tes () & T o¥F o o=l &7 U Q99 graew § 3R Bes ()
T g@l AR TH g & g% ¢, O FH UK A Grdew A U aw fashedt 7 €
ferelt vk fasea # &7 &, ol awew @ Fhavl

g5 T e ?
Options:
1. 89
> #% AT
= % SH&AT
4 % TgIaaH

Question Number : 169 Question I1d : 12797 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
A woman introduced a bov as the grandson of her mother's father-in-law. The bov 15 woman's

Options:
1« Brother

o # Son
= % Father
4. % Uncle

Question Number : 169 Question Id : 12797 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

U ARl o Ueh o156 & GR=T HUell AT & TR & 9id & T A S0 | orsanr Afgen
T AT 57

Options:

| o TS

o ® &I

z % 9fd

4 % =T

Question Number : 170 Question I1d : 12798 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

If in a certain code, 98765 1s coded as 77777, how 1s 65456 coded in that language?
Options:
1. 44468

o % 44444
3 % 45444
4 % 47474

Question Number : 170 Question Id : 12798 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



R T a9 srar & 98765 &t 77777 @ Arar &, df 39T arar & 65456 & g
TRy ToEr ARET?

Options:
1 v 44468

o % 44444
3 % 45444
4 % 47474

Question Number : 171 Question I1d : 12799 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

It CHECK is coded as DGFBL, how 1s BREAK written in that code?
Options:
1 « CQFZL

> % CFEZL
5 % AQFZL
4 % BQZFL

Question Number : 171 Question I1d : 12799 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

IR CHECK & DGFBL # &1 fhar aman, dar 397 sm91 & BREAK & &g 9t o

STy
Options:
1 « CQFZL

> % CFEZL
- #% AQFZL
4 % BQZFL

Question Number : 172 Question Id : 12800 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Abhijeet moved towards south from Delhi. He accidently took left. Which state probably

he is not going to cross?
Options:
1. # Odisha

> o Rajasthan
2 ® Bihar
4. % Uttar Pradesh

Question Number : 172 Question Id : 12800 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

sl feeell & gfaier &1 3R fodell aiadl & ag a9 3R A3 47 bea & ¥ Slaw
=T § TF o6l IR ITeam?

Options:
1. % 3Nfsem
o o T qTed



3 % foER
4 % 3o UG

Question Number : 173 Question Id : 12801 Question Type: MCQ

Correct: 1.0 Wrong: 0.25

Insert the correct number at the place of question mark
6.18.66.7. 1026

Options:

1. % 524

> # 516

3z ® 256

4 & 258

Question Number : 173 Question I1d : 12801 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TeATees &l A Hal O] HARITT Hiaa

6,18,66,7, 1026
Options:

1. % 524

- % 516

. ® 256

4. « 258

Question Number : 174 Question Id : 12802 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Fead the following information carefully and answer the question given below.

(DV.W.XY and Z are five friends.
2IW 15 elder to Z. but not as tall as X
(3)X 15 vounger to V. and 1s taller to Y and Z.
(4)V 15 taller to Y. But younger to Z.
{3)Y 15 elder to V but is shorter in the group.

Who among the following 1s the eldest?

Options:
1. % V

o ® W
z % X
4 & Z

Question Number : 174 Question Id : 12802 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



ﬁgémaﬁtmﬂﬂjmqﬁw%vngaﬂmé

(V. W, X, Y ua Z u= a7 &

(2)W, Z & 37 H 93T §, Wed X & 3271 o181 &
X, VIIFASEs wyYsiRzaz=are
V.Y A oFaT g, Wod Z T BT &

(5)Y.V & 37 # 95T §.Red 49 H ST &

FFT 7 § ol gaq 31 87

Options:
1. %V

o ® W
3 %8 X
4 9 £

Question Number : 175 Question Id : 12803 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Pick out the odd one from the given numbers

121.143.174.198.209

Options:
1. % 121

> o 174
3 ® 198
4 % 200

Question Number : 175 Question Id : 12803 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

a1 g5 e # @ fHew g giav|
121, 143, 174, 198, 209

Options:

1. % 121

> o 174

. % 198
4, % 209

Question Number : 176 Question I1d : 12804 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Who was the Leader of 'Red Shirt Party'”?

Options:
1 % Mahatma Gandhi



o % Abdul Gaffar Khan
% % Jawahar Lal Nehm
4 #® Maulana Azad

Question Number : 176 Question I1d : 12804 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

IT o€ Oiel' & =ar &l o

Options:
| % FEICHT e

o  HGel TFEGR Qe

T W AdIg{elle ?IE_'F
4. % Hlelldl HATATG

Question Number : 177 Question Id : 12805 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Who among the following personalities associated with "Swadeshi' movement. pleaded for a better
understanding between East and the West?

Options:
1 % Mahatma Gandh:

> % W.C. Baneree
= % Bal Gangadhar Tilak
4 + Ravindra Nath Tagore

Question Number : 177 Question Id : 12805 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Tagel et A 9d 3R 9ff=w & @ v dpal GAS & U g s A
ferafafaa # ¥ & oA @fdd o Agcaqol diFsr Fers?
Options:

| % FETcHT e
o % Seol. ©N. aarstf

5 #% dlel IR Tdold
g Iiara ElEL éalﬂ

Question Number : 178 Question Id : 12806 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

In which district 1s the Kakrapur Atomic Power Station located?
Options:

1. ¢ Tapi

2. # Ahemadabad

z. % Rajkot

4 % Surat

Question Number : 178 Question I1d : 12806 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



HIHTUR T 1 G Ty et & e 32
Options:

1.--f‘EITEﬁ'

2 % IGHETE,
3. % TERIC

4&31{{3

Question Number : 179 Question I1d : 12807 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Saltoro Ridge is located in

Options:
1 % Scandinavian high lands

- #® Alaska
= " Siachen Glacier
4 % Alps

Question Number : 179 Question Id : 12807 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

rea it =T (Salotro Ridge) #aT f€ara 37
Options:

1. % THI-SATIT gIEaAgd

2. % 3felT&NT

3 ¢ QTR Tgaee
4.%13?'&

Question Number : 180 Question Id : 12808 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A judge of Supreme court retires at the age of’
Options:
1. % 58

z % 60
3 % 62
4 " 65

Question Number : 180 Question Id : 12808 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Hdfed ~AAed & UF A & alfdded alel &l 3T &1 57

Options:
1. % D&

> % 60
3 ® 62
4 « Bb

Question Number : 181 Question I1d : 12809 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
The situation in which total revenue equals to the total costs. 1s known as

Options:
1 % Monopolistic competition

o o Break even pomt
= % Equilibrium level of output

4 % Perfect competition

Question Number : 181 Question I1d : 12809 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

S el JeTed Toumﬁwaﬁrﬁ,aﬁ%ﬁﬁaﬁwmm%’?

Options:

1 ® TR gfaegst
5« TTe-3ems Feufa

5 % Scdlge T Held Tl

4%1:13%1:1"—6’1?@%

Question Number : 182 Question 1d : 12810 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Pork eaters are prone to be infected with

Options:
1 + tape worms

o % earth worms
2 # silk worms

4 % malara

Question Number : 182 Question Id : 12810 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

3R AT HE G et AR Al DI § THAT & TET g il GFITeET T g2
Options:

1. ¢ 2 AT
2. % aref giFe
3. % [Qom aird
4. % FeTwT

Question Number : 183 Question Id : 12811 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The first world cup cricket tournament was held in

Options:
1 % year 1973 in South Africa

o o vear 1975 m England
= % year 1971 in Australia

4 % wear 1979 m West Indies



Question Number : 183 Question Id : 12811 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

woH faeaesy fhae ToAe TS faar o o

Options:

1 % 1973 & &1 3hIer H
5 o 1975 # 7ol &

. % 1971 & sieeforar &
L % 1979 & avc 32T &

Question Number : 184 Question 1d : 12812 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following cities will host 2016 summer Olympics?

Options:
1 % Fio - de - Janeiro

- # Tokyo
= % Los Angeles
4. % Pans

Question Number : 184 Question Id : 12812 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TAFATTET o & I i |7 9G] 2016 F ASHSRINA HAleldeh el &l HAEl HI?
Options:

1« WIS Saar

> % Tifchdr

= % @ Taed

4 % IRF

Question Number : 185 Question Id : 12813 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Who won the Junior Title at US power lifting Championships 20157

Options:
1« Amitoy Chhabra

> % Zia Haider Rahman
= # TPP Nawr
4 % SP Mishra

Question Number : 185 Question Id : 12813 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

2015 FATELS Tegd WRITe At # fhem A e star?
Options:

1« 3fAAS STeRT
o % ToEm Bex A
= #% o O Of AR
4 % TH O Fer




Question Number : 186 Question Id : 12814 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Buddha had delivered maximum sermons at

Options:

1 # Vaichali

o #® Kaushambi
= % Raygnha
4 % Sravast

Question Number : 186 Question Id : 12814 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

g of Hdifde aAfager &gl Gar ar?

Options:

1 % Jemelr
> % ThiemFr
z, % G

4 HAEEAN

Question Number : 187 Question Id : 12815 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following part of cell helps in locomotion or movement?

Options:
1 " Cilia and Flagella

2 # Centrosome
= # Nucleoplasm

4 # Chromatin

Question Number : 187 Question Id : 12815 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FITIET &1 FF T # T Hia T 8097 §8ad el AT Tola-Tohied H Ace Hiar &7
Options:

1 Fafemr 3 wenfasr
> % HeA

5 % dFCSICOTEH

4 ® FIAfET

Question Number : 188 Question Id : 12816 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
TIBOE. means

Options:
1 + Tokyo Inter Bank Offer Rate

= % Tongling International Bank Offer Rate

= # Tatwan Inter Bank Offer Rate
g % Thailand international Bank Offer Rate



Question Number : 188 Question Id : 12816 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TIBOR &r qoT &9 &= g2
Options:
| « TIFIT 5eX & WY ¥ (Tokyo Inter Bank Offer Rate)

5 % TRICET Sexeellel de WY ¥ (Tongling International Bank Offer Rate)
5 % dgal 3¢l &e WY (T (Taiwan Inter Bank Offer Rate)
4 % HS0Is SeXvAd d& AW T (Thailand international Bank Offer Rate)

Question Number : 189 Question Id : 12817 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Vice - president of India holds office for a period of:
Options:

1 # 3 years

o of 3 years

= # 6 Years

4 % 2vyears

Question Number : 189 Question Id : 12817 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

WG & 3U-TEUTS [eha el &1 TelJ US 0T il 67
Options:
1 % 3

> & D
z. % 6
4 % 2

Question Number : 190 Question Id : 12818 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Chemuical substance which 1s used for npening of fruits

Options:
1 % Ethane

> o Ethylene

= #% Acetylene
®
4. CDE

Question Number : 190 Question Id : 12818 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

ag Uaieie 9y ST Fell &l Ul & fov 9aier & sar §7

Options:

% 30
z.wgﬂfﬁﬂ
= % Ul



4. % CO,

Question Number : 191 Question Id : 12819 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Recently Kargil Vyava Divas was celebrated by entire India on
Options:

1. % 22 July

2 % 23 July

3. v 26 July

4. % 24 Tuly

Question Number : 191 Question Id : 12819 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Blel &I A &R faaa Gaw W ARG # &d AT 7117
Options:

| % 22@51%

5 % EEGIFHTEIJ

3, v 26 I

L w 24 TS

Question Number : 192 Question Id : 12820 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Recently an Earth like planet 1s discovered. Name of that planet 1s

Options:
1 « Kepler 452b

o # Kepler451b
= # Kepler 453b
4 % Kepler 455b

Question Number : 192 Question I1d : 12820 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

grel &1 & gt & R U WG T @WieT HT A5 &1 I UG & AH F4T 57
Options:

| & FER 452b

5 % Foe 451b

= % e 453b

4 % ¥R 455b

Question Number : 193 Question Id : 12821 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Subroto Cup 15 associated with

Options:

1 # Hockey



o % Swinming

=« Football
4 % Volleyball

Question Number : 193 Question 1d : 12821 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Hadl &9 8 el & @ s 50 67

Options:

1 % SED
o % NI
3, o ‘P

4 % dletidic]

Question Number : 194 Question 1d : 12822 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Fadium was originally obtained from an ore known as

Options:
1. % Rutile

o« Pitchblende
= % Limestone

4 % Haematite

Question Number : 194 Question Id : 12822 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

ﬁmwmﬁ%mﬁmgﬁiﬁ?
Options:

1 % &5

> o TOdeclc

3. % Tl 9

4 ® m(mm}

Question Number : 195 Question Id : 12823 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Part VIII of Indian Constitution refers to

Options:

1 % The Union Territories

2 # The states
= % The Panchavats

4. # The Union

Question Number : 195 Question 1d : 12823 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

HRA Siaena & #er VI fFas ot J 87

Options:



| He afaT wgal
o % Tl

= % gEEdn

4 % &g

Question Number : 196 Question Id : 12824 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
"Legal Tender Money" refers to:

Options:
1 % Cheques

= # Drafts
= % Bill of Exchange

4 +" Currency notes

Question Number : 196 Question Id : 12824 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Options:
1. % I>h
> % AN 99 (demand draft )

S_Qﬁﬁm:rwfgé“r

4 v HET e

Question Number : 197 Question Id : 12825 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
' Global Sat ' for DER proposed to be named after

Options:
1 % Ranv Gandhs

- ® CV.Raman
= o Dr. APJ Abdul Kalam

4 #® Dr. Swaminathan

Question Number : 197 Question Id : 12825 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

SRAN & v ‘Toiige O as A18 9 @7 ST gearad g7

Options:

1 % et amefr

> % L odn @a

o o 1. WIS 3eger e
4 % T TATETATE

Question Number : 198 Question Id : 12826 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Eecently ISRO commissioned titanium sponge plant in

Options:
1 % Tamilnadu

= % MNaharashtra
= " Kerala
4 % Andhra Pradesh

Question Number : 198 Question Id : 12826 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

BT &1 & SHX o 6l CSCIATH T TAA T qFHIT T §?
Options:

| % diFcETs

> % HERIEG

3. el

4 % 3T GcEr

Question Number : 199 Question Id : 12827 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

With which of the following sports 1s Thomas cup associated?
Options:
1. # Criclet

- % Volley ball
=+ Badminton
4 % Foot ball

Question Number : 199 Question Id : 12827 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

AHY FY AFAREd & § T @ & 99 ST §37 &7

Options:

1. % Tohehe
> % diellgial
3  deffced

4 % Do

Question Number : 200 Question Id : 12828 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Acetylene 1s used as

Options:
1« illuminant in lamps

o # lubricant

= % salmity remover

4 % punfving agent to punfy petroleum products

Question Number : 200 Question Id : 12828 Question Type: MCQ



Correct : 1.0 Wrong: 0.25

vfafeeler & waer g v & forar amar £2
Options:

1 o9 H URE

o> % T

3. % WAl geleidrel

4 % I 3cel 1 @ WA & AT g gedh



